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1.1 s+&T #ssX\ k<sD dedeTT (Simple expressions with two variables)
Bs#TsdeTT >T]+ MTs+<sT *d=jTTHsT. < yX\eTT l b#  & ' 'l  eT]jTT 

' 'b  #ssX\T n>TqT. d+K\ H\T>T b<$T |jT\T, #ssX\qT nqTd]+#&TqT. 
#ssX\qT |j+ = yeTT\qT dedeTT\T> esT eTqeTT |jT+#<eTT.

|jT yeTT\T ;JjT dedeTT
L&

rdyjTT

>TDseTT

u>VseTT

 x eT]jTT y \ yTTeTT

a eT]jTT b \ eT< 
edeTT

 x  eT]jTT y \ \eTT

p qT q  u+q

x + y

a -  b (a > b nsTTq) ()
b -  a (b > a nsTTq)

x #  y  ()  xy

( )p q
q
por'  () ( )p q
q
por'

>D yeTT\ m+{ >D |jT\qT |j+#* eT]jTT y{ m 
>TsT+#Ty \TdTe& +~ |{ |j>|&TT+~. 

L& rdy >TDseTT u>VseTT

yTTeTT
myq
d+\q+
L&T
me>

edeTT
yq 
ee\q+
rdyjTT
e>

\eTT
>TD+q
sT

$ueTT 

u+q 

w

<VsD 1.1
+~ y{ ;JjT dedeTT\T> yjTTeTT.
	 1)	 m eT]jTT n \ yTTeTTq 2 sT.
	 2)	 b  2 sT a yq.
	 3)	 x eT]jTT y nqT s+&T d+K\ esZeTT\ yTTeTT.
	 4)	 p eT]jTT q \ \eTTqT 7  L&q. 
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	 5)	 2 sT  a eT]jTT b \ \eTTqT 5  u+#TeTT.
	 6)	 eT&T s+&e e+T y +f x  me.
	 7)	 x nqT d+K d>+ 3 qT Z+q.
	 8)	 m eT]jTT n d+K\ yTTeTT y{ \eTTqT Z+q.
	 9)	 y eT]jTT 6 yTTeTT 4 sT x e.
	 10)	 eT&T  e+T a eT]jTT m \ yTTeTTq 2 sT.
	 11)	 y qT 5  u+ x  L&T.

k<q:
	 1)	 m n2 +^ h	 2)	 b a2-

	 3)	 x y2 2
+ 	 4)	 pq7 +

	 5)	 ab
5

2 	 6)	 y x
3
2 +

	 7)	 x
2

3- 	 8)	 ( )m n mn+ -

	 9)	 y x6 4+ -^ h 	 10)	 a m2
3
1 +` j

	 11)	 y
x

5
+

+~ yeTT\qT ;JjT dedeTT\T> yjTTeTT.

  	(i)  a   sT  b .

	 (ii)  a , b yTTeTTqT 5  u+#TeTT.

	(iii)  2 sT m  n yq.

	(iv)  4 sT x qT  y  u+#T.

 	(v)  5 sT p qT 3 sT q  >TD+#T.

nudeTT 1.1
	 1.	 d]jTq yTqT mqT=qTeTT:

	 (i)	 5 sT x, 3 sT y   eT]jTT 7 \ yTTeTT.           

	 (n) x y5 3 7+ +^ h		  () x y5 3 7+ +

	 () x y5 3 7+ +^ h		  () x y5 3 7+ ^ h

	 (ii)	 a eT]jTT b \ yTTeTT d>+. 

	 (n) a b
2
1 +^ h	 () a b

2
1 + 	 () a b

2
1 -^ h	 () a b

2
1 + +

	 (iii)	 x eT]jTT y \ edeTTq 3 sT.

	 (n) x y3 - 	 () x y3 - - 	 () xy 3- 	 () y x3 -^ h
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	 (iv)	 y eT]jTT z \ \eTT qT+& 2 qT rdyjTTeTT
	 (n) yz2 - 	 () yz2 + 	 () yz 2- 	 ()   y z2 -

	 (v)	 6 eT]jTT q \ \eTTq p   jTT d>eTTqT L&T

	 (n) 6
p

q
2
+ 	 () p q

2
6

+ 	 () p q
2
1 6+^ h	 () p q

2
1 6 +^ h

	 2.	 #ss, dss eT]jTT >D |jT\qT |j+ +~ yeTT\qT ;JjT 
dedeTT\T> yjTTeTT: 
	 (i)	 x eT]jTT 2 sT y \ yTTeTT.
	 (ii)	 y qT+& z  rdydq.
	 (iii)	 x eT]jTT y  \ \eTTq 4 qT L&TeTT.
	 (iv)	 3 sT x eT]jTT 4 sT y \ edeTT.
	 (v)	 10,  x  eT]jTT y \ yTTeTT.
	 (vi)	 p  eT]jTT  q  \ \eTT qT+& 5 qT rdydq.

	 (vii)	 12 qT+& m  eT]jTT  n  \ \eTTqT rdydq.

	 (viii)	 a  eT]jTT  b  \ yTTeTTqT y{ \eTT qT+& rdydq.

	 (ix)	 3 sT c  eT]jTT d  \ \eTTq 6 qT L&q.

	 (x)	 4 sT x  eT]jTT  y  \ \eTTqT 3  u+q.

1.2 keq dMTsDeTT\T (Simple Linear Equations)
e\ q eeT  ueTqT VQ]+#qT. yT ueT 

sTeqT \TdTy\qT+~. sTeqT \TdT=qT dTqT 
|j++~. yT sTe 40 .> n, eT]jTT ueT sTe, 
+><T+|\ sTe *|q q sTe n \TdT=HqT.

nq>,

ueT sTe L&
+><T+|\ 

sTe 
deTeTT

 e\ 
sTe

s + 15 = 40

                    |{ 1.1
| y{ qT+& s $\TeqT \TdT=qT +#<eTT.
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15 qT sTy|\ rdyjTTeTT.

$T*q~ ueT sTe n>TqT.

	 s + 15	 =	 40 (|{ 1.1 qT+)

	 s + 15 – 15	 =	 40 – 15 (15 qT sTy|\ qT+ rdydq)

	 s	 =	 25

{ ueT sTe 25 .>.

s 15 40+ =  nqT yeTT  dMTsDeTT n>TqT. nq>  yeTT s+&T >D 
dedeTT\T deqeTT> e+&q < dMTsDeTT n+<TsT.

deqeTT #jTT  >T]+q sTeqT y| rdydq, n+ sTeqT eT]jTT 
y| qT+& rdyjTeqT.

 >T]+q sTeqT  y| L&q n+ sTeqT eT]jTT y|q L& L&eqT.

sTy|\ deq sTe *q dT+{~ dMTsDeTT n>TqT. dMTsD+ deq 
>TsT m\|&T e+&TqT. m&eT |qTq dedeTT $\Te (LHS)  & |qTq  dedeTT    
$\Te (RHS) deqeTT n  deq >TsT *jTCjTT#Tq~.

¬ x 7 15+ =  nqT dMTsDeTTqT rdT=qTeTT.

B m&eT | eq~ x 7+

& |q q~ 15

sTy|\ 7 qT rdyjTTeTT

	 x 7 7 15 7+ - = - 	 (7 qT rdydq m&eT |q x $T>T\TqT)

	 x 8= 		 (#ss x ysT #jT&q~)
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¬ 3 10n - =  nqT dMTsDeTTqT rdT=qTeTT.

	 m&eT | 3n -

	 & | 10

sTy|\ 3 qT #]q
	 n 3 3 10 3- + = +

	 n 13= 	 (#ss n ysT #jT&q~)

¬ 4m = 28 nqT dMTsDeTTqT rdT=qTeTT.

sTy|\ 4  u+#TeTT. 
	 m

4
4

4
28=

	 m = 7

¬ y
2

6=  nqT dMTsDeTTqT rdT=qTeTT.

	 sTy|\ 2  >TD+#TeTT.

	 y
2

2 6 2# #=

	 y 12=

 dMTsDeTT jTT deTd es+&e+&T,  dMTsDeTT  y| @ d+KqT 
L&qqT (rdydqqT) eT]jTT y| n< d+KqT L&T (rdyjTT) #jTeqT. < $<eTT> 
dTH d+K\qT >TD+q  u+q dMTsDeTT deTd e+&TqT. nq> dMTsDeTTqT 
k~+#T, dMTsDeTT e+&T #ss ysT#jTT >D |jT\T #jTe\d eq~. 

<VsD 1.2
k~+#TeTT:  p3 4 25+ =

k<q:	 3 4 4 4p 25+ - = - 	 (sTy|\ 4 qT rdydq)

	   p3 21=

	  p
3
3

3
21= 	 (sTy|\ 3  u+#TeTT)

	  p 7=  

<VsD 1.3
k~+#TeTT:  m7 5 30- = 				  

k<q:	 m7 5 5 30 5- + = + 	 (sTy|\ 5 qT L&TeTT)
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	  m7 35=

	 m
7
7

7
35= 		  (sTy|\ 7  u+#TeTT)

	 m 5=

dMTsDeTTqT k~+#Tq|&T,  d+KqT sTy|\ L&T  rdyjTT 
#jTT#THeTT. < $<eTT>  d+KqT sTy|\ L&T  rdyjTT #jT+& eTqeTT 
d+KqT kqe]& #jTe#TqT. 

d+KqT kq e]& #jTT nqTq~ ( y| qT+& eT]jTT y|q rdT= y) 
 d+KqT sTy|\ L&TH  rdyjTTH #d |jT f n>TqT. d+KqT kq 
e]& #jTTq|&T >TsT ese\jTTqT. kq e]& = <VsD\qT ##<eTT.

<VsD 1.4
k~+#TeTT:  a2 12 14- =

k<q:

sTy|\ L&T  rdyjTT kq e]&
a2 12 14- =

a2 12 12 14 12- + = +    (sTy|\ 12 
qT L&TeTT)

	 2 2a 6=

	 a
2
2

2
26=  (sTy|\ 2  u+q)

	 1a 3=

a2 12 14- =

m&eT |q eq (`12) qT & | kq 
e]& #dq.

a2 14 12= +  (kq e]& `12                        
nqTq~ G12 > esTqT)

  2 2a 6=

a
2
2

2
26= 	 (sTy|\ 2  u+q)

    1a 3=

<VsD 1.5
k~+#TeTT:  x5 3 18+ =

k<q: G3 qT m&eT | qT+& & | kq e]& #jTTeTT.

	 x5 18 3= - 	 (kq e]& G3, `3 n>TqT)

	 x5 15=

	
x

x
5
5

5
15

3

=

=

	 (sTy|\ 5  u+#TeTT)
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<VsD 1.6
k~+#TeTT:  x2 4 12+ =^ h

k<q: m&eT |q eq +&sDeTTqT (bracket) rdyjTT sTy|\ 2  
u+#TeTT.

	 x

2

2 4

2
12+

=
^ h

	 x 4 6+ =

	 x 6 4= - 	 (G4 qT & | kq e]& #dq)

	 x 2=

<VsD 1.7
k~+#TeTT:  m3 2 18- - =^ h

k<q:  m&eT |q eq +&sDeTTqT rdyjTT sTy|\ (`3)  u+#TeTT.

	 m

3

3 2

3
18

-

- -
=

-

^ h

	 m 2 6- =-

	 m 6 2=- +    (`2 qT & | kq e]& #dq)

	 m 4=- 		

<VsD 1.8
k~+#TeTT:  (3x + 1 ) – 7 = 12

k<q:
	 (3x + 1) – 7	 =	 12
	 3x + 1 – 7	 =	 12
	 3x – 6	 =	 12
	 3x	 =	 12 + 6
	 x

3
3 	 =	

3
18

	 x	 =	 6
<VsD 1.9

k~+#TeTT:  x x5 3 17 2+ = -

k<q:
	 x x5 3 17 2+ = -
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	 5 2 17 3x x+ = -  (G3 qT & |, x2-  qT m&eT | kq e]& #dq)

	 x7 14=

	 x
7
7

7
14=

	 x 2=

<VsD 1.10
eT&T esTd dV d+K\ yTTeTT 45.  eT&T dV d+K\qT qT>=qTeTT.

k<q: yTT<{ dV d+K x nqT=qTeTT.

&  s+&e d+K	 x 1= +

   eT&e d+K	 1 1 2x x= + + = +

   y{ yTTeTT	 x x x1 2 45= + + + + =^ ^h h

	 x3 3 45+ =

	 x

x

3 42

14

=

=

 eT&T dV d+K\T x 14=

	 1 15x + =

	 x 2 16+ =

<VsD 1.11
 d+KqT 60  L&q 75 e#TqT .  d+KqT qT>=qTeTT. 

k<q: qT>=qe\dq d+K x  n nqT=qTeTT.

dMTsDeTT	 x60 75+ =

	 x 75 60= -

	 x 15=

<VsD 1.12
 d+K qT+& 20 qT rdydq 80 e#TqT.  d+KqT qT>=qTeTT.

k<q: qT>=qe\dq d+K x  n nqT=qTeTT.

dMTsDeTT	 x 20 80- =

	 x 80 20= +

	 x 100=
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<VsD 1.13

 d+K |~  e+T 63.  d+KqT qT>=qTeTT.

k<q: qT>=qe\dq d+K x  n nqT=qTeTT.

dMTsDeTT	 x10
1 63=^ h

	 ( ) 63 10x10
1 10# #=

	 x 630=

<VsD 1.14

 d+KqT 4  u+ 6  L&q 10 e#TqT.  d+KqT qT>=qTeTT..

k<q: qT>=qe\dq d+K x  n nqT=qTeTT.

dMTsDeTT	 x
4

6 10+ =

	 10 6x
4
= -

	 x
4

4=

	 x
4 4 4 4# #=

\  d+K 16.

<VsD 1.15
	 T\d ejTdT, se ejTdT +f 3 e. T\d ejTdT 18 nsTTq, se ejTdT m+?

k<q: se ejTdT x nqT=qTeTT. 

&  T\d ejTdT  = x 3-

T\d ejTdT 18 d+eseTT\T n e&q~.

	 & 	 x 3 18- =

	 x 18 3= +

	 x 21=

{, se ejTdT 21 d+eseTT\T.
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nudeTT 1.2
	 1.	 d]jTq yTqT mqT=qTeTT.
	 (i)	 p 3 9+ =  nsTTq, p   nqTq~
	 (n) 12	 () 6	 () 3	 () 27

	 (ii)	 x12 8- =  nsTTq, x   nqTq~
	 (n) 4	 () 20	 () 4- 	 () 20-

	 (iii)	 q
6 7=  nsTTq, q  nqTq~

	 (n) 13 	 () 42
1 	 () 42 	 () 6

7

	 (iv)	 x7 9 35- =^ h  nsTTq, x   nqTq~
	 (n) 5	 () 4- 	 () 14 	 () 37

	 (v)	  d+K jTT 3 sT 60 nsTTq,  d+K 

	 (n) 63 	 () 57 	 () 180 	 () 20  

	 2.	 k~+#TeTT:
	 (i)	 x 5 7- = 	 (ii)	 a 3 10+ = 	 (iii)	 y4 2+ =-

	 (iv)	 b 3 5- =- 	 (v)	 x 5- = 	 (vi)	 x 7- =-

	 (vii)	 x3 8- = 	 (viii)	 n14 10- = 	 (ix)	 m7 4- =-

	 (x)	 y20 7- =-

	 3.	 k~+#TeTT:
	 (i)	 x2 100= 	 (ii)	 l3 42= 	 (iii)	 x36 9=

	 (iv)	 a51 17= 	 (v)	 x5 45=- 	 (vi)	 t5 20=-

	 (vii)	 x7 42- = 	 (viii)	 m10 30- =- 	 (ix)	 x2 1- =

	 (x)	 x3 18- =-

	 4.	 k~+#TeTT:

	 (i)	 x2
1 7= 	 (ii)	 a

6 5= 	 (iii)	 n
3 8=-

	 (iv) 	 p
7 8

-
= 	 (v)	 x

5 2- = 	 (vi)	 m
3 4- =-

	 5.	 k~+#TeTT:
	 (i)	 x3 1 10+ = 	 (ii)	 11 2x 19+ =- 	 (iii)	 z4 3 17- =

	 (iv)	 a4 5 41- =- 	 (v)	 x3 2 15+ =^ h  	 (vi)	 x4 2 12- - =^ h

	 (vii)	 y
5
3 14+
= 	 (viii)	 x

3
5 7+ = 	 (ix)	 y y6 21= -

	 (x)	 m m11 42 4= + 	 (xi)	 x x3 5 22- =- + 	 (xii)	 6 2 1m m1- = +

	 (xiii)	 x x3 14 8- = - 	 (xiv)	 x x x5 2 7 1- + = + 	(xv)	 t t5 3 3 5- = -
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{&T+<+ s+&:
@<H  d+KqT nqT=qTeTT n seTT q dVTq nsTD, XsD, s$\ #|qT. 

nqT=q d+K 50 qT L& eq $\TeqT s+&+\T #jTeTHqT.sTy yqT # 
es> eq $\Te 48 qT L&, 2  u+ eq $\Te qT+& nqT=q d+KqT 
rdyjTeT #|qT. MT+<] e]> eq d+K 74 n seTT #|> n+<] XseTT.

nsTDY XsD s$

 d+KqT 
nqT=qTeTT 

x 16 20 7

50 qT L&TeTT x+50

s+&+\T #jTT x2 100+ ￼

48 qT L&TeTT x2 148+ ￼

2  u+#TeTT x 74+ ￼

e nqT=q d+KqT 
rdyjTTeTT.

74

k~+#TeTT:

	 (i)	 y 18 70+ =- 	 (ii)	 x300 100- + =

	 (iii)	 t
3

5 6- =- 	 (iv)	 x2 9 19+ =

	 (v)	 x x3 4 2 11+ = +

	 6.	 s+&T d+K\ yTTeTT 33.  d+K 18 nsTTq, eT]jTT d+KqT qT>=qTeTT.
	 7.	  d+KqT 12  L&q 25 e#TqT.  d+KqT qT>=qTeTT.
	 8.	   d+K qT+& 60 qT rdydq 48 e#TqT.  d+KqT qT>=qTeTT.
	 9.	  d+K 5 sT 60 nsTTq,  d+K m+?
	 10.	  d+K 3 sT qT+& 6 qT rdydq 18 e#TqT.  d+KqT qT>=qTeTT.
	 11. 	 s+&T esTd d+K\ yTTeTT 75 nsTTq,  d+K\T @$?
	 12.	 seTT n +& s 75 #qT. |&T n <>Zs s 130 q$. nsTT yTT<{ 

n <>Zs m+ &T e+&q~? 
	 13.	 8 d+ eTT+<T H ejTdT 27. |&T H ejTdT m+?
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	 1.	 ;>DeTT >DXd+  u>eTT n>TqT. >D |jT\T, d+K\T eT]jTT +> 
nseTT\qT *q~>  u>eTT e+&TqT.

	 2.	 $$< d+U s|eTT\ $\Te\qT rdT=qT  |]eDeTT #ss n>TqT.

	 3.	 ssTT+q d+U s|eTTH $\Te> rdT=qT  |]eDeTT dss n>TqT.

	 4.	 #ssX\qT, d+Us|eTT\qT >D |jT\ <seTT> #] ydq dedeTT ;JjT 
dedeTT n>TqT.

	 5.	 nH |<eTT\ @s&q~ dedeTT n>TqT.

	 6.	  |eTT\qT *q  #ss  #ssX\ >TDseTT d<X|<eTT\q&TqT. 
yssT |eTT\qT *q yssT #ssX\T  #ssX\ >TDseTT $<X |<eTT\
q&TqT.

	 7.	  #ss e+&T  dMTsDeTT n+dT nqTq~  #ss jTT $T* n~ 
|eTT n>TqT. { +f me #ssX\ e+&T  dMTsDeTT n+dT nqTq~, 
#ssX\ $T* n~ |eTT\ yTTeTT n>TqT.

	 8.	 deT d eq s+&T dedeTT\qT *q  yeTTqT dMTsDeTT n n+<TsT.

	 9.	  dMTsDeTT m&eT |qT, & |qT kqe]& #dqqT < $\Te es<T.

	 10.	 #ss jTT @ $\Te dMTsDeTTqT ||s#TH,  $\TeH  dMTsDeTT jTT 
k<q n #|e#TqT.
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    2.1 XeTT 

	 n+>& q uqsY\ +&T 25%, 20% \qT+& @$T \TdT=+{] ?
	 seTT se s>, >DeTT @ d H&T nqTq~ \TdT=qT seTT * 

n esT\ sTqT #q~.
	 n esT\ sT e&jTTq >D esT\T @eq>

17 / 25 , 36 / 50 , 75 /100 ,80 /100 , 22 / 25, 45 / 50

seTT *e\ n esT\ sTqT #q y+H seTT jTT me esT\T eT]jTT e 
esT\qT \TdT=qT M\T<T. n+<Te\q, yT e&q n esT\qT yTTeTT 
esT\T 100 > esT=HsT. (100 qT VseTT> *q _qeTT\T)

n+X 
| 1

 H\ | 
1

 eT&T H\\ 
| 

 sT H\\
| 

n+X| 
2

 H\|
2

100
68

100
72

100
75

100
80

100
88

100
90

nqT~q n+>DeTT 
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	 |&T, n esT\T n{ qsT esT\ es&jTTq$.
	 n+<Te\q, yT seTT esT\qT b*q|&T nqT se s> >DeTT =+#eTT 
=+#eTT> n_e~ #+~jTTH&T n \TdT= d+w|&q~.
	  | _qeTTqT >T]+ \TdT=+<TeTT
	  uT q q uT <>Zs be dVjT|&+&. n~ be { +f 
n~yTq <] eq< ?

		  <T,   <] eeTT s+ueTT qT+& eTT+| es >\<T.
	 q #TsdeTT\ yTTeTT d+K 	 =	 100
	 #jTyjT&q #TsdeTT\ d+K	 =	 41
	 #jTyjT #TsdeTT\ d+K	 =	 59
	 <] <T #TsdeTT\ d+K	 =	 ____

|&T +~ e&q |{qT #&TeTT.

w _qeTT  XeTT
#jTyjT&q 

u>eTT
100 41 
u>eTT 41 : 100

100
41 41%

#jTyjT u>eTT 100 59 
u>eTT 59 : 100

100
59 59%

<] <T u>eTT
100  
_____ 
u>eTT

____ : 100
100

_____ % 

•	 100qT VseTT> *q{ _qeTT XeTT nq&TqT
•	 XeTqTq~ Percentum nqT {H |<eTT qT+& eq~. B Percent n 

L& #|e#TqT.
•	 XeTTqT % nqT >TsT >T]+#<sT. XeTqTq~ q{ n nseTT.
•	 x : y nqT w y R 100 nsTTq < XeTT nqe#TqT.
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	 XeTTqT # |<T\ s|+#T.

	     #jTyjT&q u>eTTqT +~ $<eTT> >T]+#<eTT: 

	 w    	 5 : 100	 17  : 100	 43  :  100

	 _qeTT 	
100
5 	

100
17 	

100
43

	 XeTT 	 5%	 17%	 43%

nudeTT 1.1
	 1)	  +< e&q y{ XeTT> yjTTeTT:

		  (i) :20 100 	 (ii) 
100
93 	 (iii) 11 qT 100  # u+#T	 (iv) 

100
1 	 (v) 

100
100

	 2)	  +< e&q y{ wT\T> yjTTeTT:
		  (i) 43%	 (ii) 75%	 (iii) 5%	 (iv) %171

2 	 (v) 33 %1
3 	  

	 3)	  +< e&q y{ _qeTT\T> yjTTeTT:
		  (i) 25%	 (ii) %121

2 	 (iii) 33%	 (iv) 70%	 (v) 82%

XeTTqT 
|eTT 

dVjTeTT 
*jTCjTT

+#TeTT !

n+>& 1 25% Z+| q, neT| <sjTT XeTTqT qT>=qTeTT. n+>& 2 
e&jTTq Z+| XeTTqT qT>=qTeTT . 

@ n+>& e <s neT&T#Tq~?
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2.2  _qeTT eT]jTT <X+X d+K\qT XeTT> esT :

100
5  = 5%, .

100
1 2  = 1.2%, 

100
175  = 175%. nqTq~ eTqeTT \TdT=q<

 
10
5  qT XeTT> esT

10
5   nqT _qeTTqT XeTT> +~ $<eTT> ese#TqT :

	 VseTTqT 100 > esT \eeTTqT, VseTTqT 10 # >TD+#TeTT

	 0%
10 10
5 10

100
50 5

#
# = =  

<  $<eTT> #jTe#TqT  
10
5 by qT 100%  # >TD+q

	 % 0%
10
5 100 5# =` j

MT \Tk?
 1 H e d+KqT 100 H |< d+KqT XeTT> >T]+#T M\>TqT. 

2
1 % 120%

10
5

100
50

eeTTq 50% #jTyjT& jTTq~. eeTTq 25% #jTyjT&q~
	 eeTTq (i) 50%, (ii) 25% u>eTTqT ys $<eTT> #jT 
yjTT |jT+#TeTT.
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    (i)  VseTTqT 100 > esT M\>T _qeTT\T :

<VsD 2.1
		

5
3  qT XeTT> esTeTT      					     

	  k<q :
5 qT 20 # >TD+q 100 \_+#TqT.	

	
5

%
20

3 20
100
60 60

#
# = =

	 %
5
3 60=

<VsD 2.2
6
4
1   qT XeTT> esTeTT

	  k<q :
	 6

4
1

4
25=

4 qT 25 # >TD+q 100 \_+#TqT. 

	
4
25 %

25
25

100
625 625

#
# = =

(ii) VseTTqT 100 > esT M\T _qeTT\T :

<VsD 2.3
	

7
4   qT XeTT> esTeTT

 k<q :  100%   # >TD+#TeTT 

	 % %
7
4 100

7
400

# =` j

	 57 % 57.14%
7
1= =  

<VsD 2.4 
	

3
1   qT XeTT> esTeTT

 k<q : 100%  # >TD+#TeTT 

	 % %
3
1 100

3
100

# =` `j j

	  = 33
3
1 %  33.33%

<VsD 2.5  
250 eT+~ $<sT\T >\  bsX\, 55 eT+~  $<sT\T ud{ u\T, 75 eT+~ 

$<sT\T * +, 63 eT+~  $<sT\T u\TqT $T*q $<sT\T {qT w|&]. nsTTq,     

1) 2 × ____ = 100
2) 5 × 20 = _____
3) 4 × 25 = _____
4) 10 × _____ = 100
5) 1 × _____ = 100
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(n) ud{ u\T () u\TqT w|&T $<sT\ XeTT m+ ?

k<q :
yTTeTT $<sT\ d+K = 250

(n) 	 ud{ u\TqT w|&T $<sT\ jTT d+K  = 55

	 250  55 eT+~ ud{ u\TqT w|&] nqT< 
250
55  n >T]+#e#TqT.

	 ud{u\TqT w|&T $<sT\ XeTT = %
250
55 100#` j    22%=

() 	 u\TqT w|&T $<sT\ d+K  = 63

	 250  63 eT+~  u\TqT w|&] nqT< 
250
63  n >T]+#e#TqT.

	  u\TqT w|&T $<sT\ XeTT = %
250
63 100#` j

	                                                       %
5

126=  = 25.2%

ud{u\TqT w|&T $<sT\ XeTT = 22 %

u\TqT w|&T $<sT\ XeTT     = 25.2 %

(iii)  <X+X d+K\qT XeTT> esT :
<VsD 2.6

		  0.07 qT XeTT> esTeTT
	 k<q :

	 100% # >TD+#TeTT

	 (0.07 )% %100 7# =

	 eTs=|< :
	 . %0 07

100
7 7= =

<VsD 2.7 

	 	 0.567 qT XeTT> esTeTT

k<q :	 100% # >TD+#TeTT						   

	 (0.567 100)% 56.7%# = 					   

eTs=|< : 	0.567	 =	
1000
567  = 

10 100
567
#

			   =	 . . %
100
56 7 56 7=

  >eT :  _qeTTqT()  <X+X d+KqT XeTT> esT100% # >TD+#e\jTTqT.
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nudeTT 2.2
	 1.	  dsq yTqT mqT=qTeTT :  
	 (i)	 6.25 = 
	 (n)  62.5%	 ()  6250%	 () 625%	 () 6.25%

	 (ii)	 0.0003 =
	 (n)  3%	 ()  0.3%	 () 0.03%	 () 0.0003%

	 (iii)	
20
5  = 

	 (n)  25%	 ()  
4
1 %	 () 0.25%	 () 5%

	 (iv)	 1 >+ 20 $TweTT\ XeTT  
	 (n) 33

3
1  	 ()  33	 () 33

3
2 	 () $ @$TjT <T

	 (v)	 1 s. 50 |d\T XeTT 
	 (n)  500	 ()  

2
1 	 () 50	 () 20

	 2.	  +< e&q _qeTT\qT XeTT> esTeTT
			  i)

20
20 		 ii)

50
9 		  iii) 5 1

4
	 iv) 

3
2 		  v) 

11
5

	 3.	 +< e&q <X+X d+K\qT XeTT> esTeTT
		  i) 0.36	 ii) 0.03	 iii) 0.071	 iv) 3.05	 v) 0.75

	 4.	  >T]+q sE, 35 eT+~ $<sT\T q  s> 7 eT+~ $<sT\T VsT 
<T. nsTTq VsT  $<sT\ XeTTqT qT>=qTeTT.

	 5.		 seTT =q 36 e$T&|+& 5 e$T&|+&T [bjTqT. nsTTq, [bsTTq 
e$T&|+& XeTTqT qT>=qTeTT.

	 6.	 50 eT+~ >\  s> 23 eT+~ u*\T, $T*qysT u\TsT nsTTq, u\TsT, 
u*\ XeTTqT qT>=qTeTT.

	 7.	  s$ >DeTT 75  66 esT\T, $Cq XgeTT 80 72 esT\T rdqT. nsTTq, 
@ bseTT n~eTT> esT\T rdjTT+&TqT?

	 8.	 XyT jTT H\d] <jTeTT `12,000. nqT b<Te #dq~ `1,200. n jTT 
b<T|, KsT\ XeTTqT qT>=qTeTT.

+#TeTT !
1.	 XseTTqTq seTT 

10
9  u>eTT sT>\<T nq, sT seTT jTT XeTT m+?

2.	 XseTT sTe 
5
2   u>eTT +&seTT\ L&q~ nq, XseTT +&seTT\  XeTT 

m+ ?   XseTT sTe  
3
2  u>eTT sT >\<T. +&seTT sTe eT]jTT { sTe 

yTT<\>T y{ yTTeTT 100% H me>H () e>H +&TH? n> e+&q 
+&seTTqT >] @$T #| M\>TqT?
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 2.3  XeTTqT _qeTT>H () <X+X d+K>H esT :
  i) 	 XeTT nqTq~ 100 qT VseTT> >\ _qeTT. _qeTT >T]+#Tq|&T, d s|eTT 

yjTe\jTTqT.
<VsD 2.8

12% qT _qeTT> esTeTT 
	 k<q :

	 12%	 =	
100
12  (d s|eTTq esTeTT)

		  =	
25
3

<VsD 2.9 
%2331

3  qT _qeTT> esTeTT

	 k<q :

	 % %233
3

7001
3 =

		  =	
3 100
700

3
7

#
=

		  =	 2
3
1

<VsD 2.10

4
1 % qT _qeTT> esTeTT  

	 k<q :
		  %

4
1

4 100
1

400
1

#
= =

  (ii)	 XeTT nqTq~ 100 qT VseTT> >\ _qeTT.  _qeTTqT <X+X d+K> esT,  
\eeTT q d+K jTT <X+X _+<TeqT s+&T d+K\ m&eT |> e+#eqT.

<VsD 2.11
15%  qT <X+X d+K> esTeTT.

	 k<q :
	 15%	 =	 .

100
15 0 15=

<VsD 2.12
25.7%  qT <X+X d+K> esTeTT.

	 k<q :
	 25.7%	 =	

.
100
25 7

		  =	 0.257

q _qeTT\T >\ XeTT\T 
	 50%	 =	

2
1

	 25%	 =	
4
1

	 33
3
1 %	 =	

3
1

     |q >T]+#&jTTq $<eTT> 
ys = _qeTT\qT qT>=qTeTT.



n<jTeTT 2

22

	 48  sT\T >\  qT @ss#TeTT. (16 \T >\ 48 sT\T) < = eT&T 
sT\TqT XeTT, w eT]jTT <X+X d+K s|eTT  $\TeqT *jTT+&TqT.

	 sT\T * n+<] deqeTT> sT\qT yjTTeTT.

y{  $\TeqT #T (XeTT, w, <X+X d+K >\) sT\qT qT>= n+<] 
#|+ yTC| +#TeTT.

	 $T*jTTq sT\qT rdT= qT eTs\ bs+_+#TeTT. &Ty] m&eT|qTq y] 
qT+&  sTqT rdT=qTeTT.  $\Te>\ eT&T sT\T <=]q y{ yTC| +#TeTT. 
 $\Te>\ eT&T sT\T @ss#T M\T<T. nq < n> e+#T=qe\jTTqT. 
 $\Te>\ n eT&T sT\T #sTes qT k+#TeTT. n~yTq sT\T eqysT       
>\Tb+~q ys>T<TsT.

XeTT jTT $\TeqT qT>=qT
	  eeTTqT  50% |# s+>TqT , 25% msT| s+>TqT +|eTT.

50% = 
100
50

2
1=  eeTTqT |# s+>T +|eTT.

n< $<eTT>,  25% = 
100
25  = 

4
1

4
1  eeTTqT msT| s+>T +|eTT

|&T, #TsdeTT  
2
1   u>eTTqT |#s+>TqT, 

4
1   u>eTTqT 

msT| s+>TqT +|eTT.

>D  ` (3 sT\qT \T|)
	  qT 2  3 eT+~ &e#TqT.

	 = XeTTqq q deq w <X+X d+KqT +~ e&jTTq  $<eTT> 
yssT sT\ yjTTeTT.

5%

33
3
1 %

1 : 20

1 : 3

0.05

0.33



nqT~q n+>DeTT

23

	  s+&T |eTT\q |# s+>T u>eTT deTeTT> eq<?

	  eeTT jTT 50% qT #TsdeTT jTT 50% qT deTeTT <T.

	 n< $<eTT>, eeTT jTT 25% qT #TsdeTT jTT 25% qT  
deTeTT <T.

	 |&T, `100  50% qT ,`10   50% qT qT>=H<eTT.

`100  50%  m+?	 `10  50%  m+?

	                   50% = 
100
50

2
1= 	                50%

100
50

2
1= =

{,  100  
2
1  = 

2
1 100 50# = 	           10  

2
1  =  

2
1 I10 = 5 

	     `100  50% = `50.	    `10  50%  =  `5.

<VsD 2.13
	 1000 .>  20% qT qT>=qTeTT.

	 k<q :
	 1000    20%	 =	 1000  

100
20

		  =	
100
20 1000#

	 1000 .>   20%	 =	 200 .> 

<VsD 2.14
200   %

2
1  qT qT>=qTeTT.

	 k<q :

          200   %
2
1  =	 200  

100
2
1

 

	 =	
2 100

1 200
#

#

	 200 1
200
1

# =

     `  200   %
2
1   = 1

<VsD 2.15
	 40 .>. 0.75 % qT qT>=qTeTT.

	 k<q :
	 0.75%	 =	 .

100
0 75
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	40 .>.  0.75 %	 =	 .
100
0 75 40#

		  =	 .
10
3 0 3=

40 .>.  0.75 % 	 =	 0.3 .>.

<VsD 2.16
	 70 eT+~ >\ s>, 60% u\TsT nsTTq, u\TsT, u*\ d+KqT qT>=qTeTT.

	 k<q :
	  yTTeTT $<sT\T 	 =	 70

	 u\Ts d+K	 =	 70  60%

		  =	
100
60 70#

		  = 	 42

	 u\Ts d+K	 =	 42

                      	        u*\ d+K  =     yTTeTT $<sT\T – u\TsT d+K 

		  = 	 70 – 42

		  =	 28

  	 u*\ d+K 	 =	 28

<VsD 2.17
	 2010   q>seTT jTT qd+K 1,50,000 s d+eseTT n~ 10% 

n~eTjTqT.nsTTq, 2011  qd+KqT qT>=qTeTT .

	 k<q :
	 2010  qd+K 	 =	 1,50,000

	 n~]+q qd+K	 =	 , ,
100
10 1 50 000# 	

		  =	 15,000

	 2011  qd+K 	 =	 150000 + 15000

		  =	 1,65,000
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nudeTT 2.3
	 1.	  dsq yTqT mqT=qTeTT :

	 (i)	 30 % jTT keq _qeTT 

	 (n) 
10
1 	 () 

10
7 	 () 

100
3 	 () 

10
3

	 (ii)	  %
2
1  jTT keq _qeTT 

	 (n) 
2
1 	 () 

200
1 	 () 

100
200 	 () 100

	 (iii)	 25%  deqyTq <X+X d+KqT qT>=qTeTT.

	 (n) 0.25	 () 25	 () 0.0025	 () 2.5

	 (iv)	  `300    10%

	 (n) `10	 () `20	 () `30	 () `300

	 (v)	 `150    5%

	 (n) `7	 () `7.50	 () `5	 () `100

	 2.	 +< e&q XeTT\qT _qeTT\T> esTeTT.

		  i) 9% 	 ii) 75%	 iii) %
4
1 	 iv) 2.5%	 v) %662

3

	 3.	 +< e&q XeTT\qT <X+X d+K\T> esTeTT.

		  i) 7%		 ii) 64%	 iii) 375%	 iv) 0.03%	 v) . %0 5

	 4.	 $\TeqT qT>=qTeTT :

		  i)   24  75% 		  ii)  `72  33 3
1 % 	 iii) 80 MT.  45%

		  iv) 150  72% 		  v) 50 .> 7.5% 

	 5.	 syT q <jTeTT 25% qT u&T> #qT. n <jTeTT `25,000> 
+&Tq|&T, nqT u&T> q yTTeTT m+?

	 6.	  deTjTeTT  T 25 b{\ &q~. < 36% >\Tb+~q~.  T  
>*q b{\ d+KqT qT>=qTeTT.

	 7.	  >eTeTT 32,000 Hu +&]. y] 40% |sTw\T, 25% d\T, $T*q 
ysT |\\T nsTTq, |sTw\T eT]jTT |\\ d+KqT qT>=qTeTT.

	 8.	  b sT <s `45,000 < <s 15%  Z+q, < = <s m+?

	 9.	 7,500 Hu >\  >eTeTT #~$qysT 47% nsTTq, #<eysT m+<sT ?
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			     +#TeTT !
	 1)	 ~ d]j ?
		  25  20% qT, 20 25%qT deqeTT.
	 2)	  uqX\, sd<T |seTT 1.5% |qT ed\T #jT&q~.
		  n)  |qT XeTTqT <X+X d+K> esTeTT.
		  )  6 eT+~ T+duT\T `750  uqeTT #d]. ysT #*+q |qT 

m+?
	       )  uqX\ ysT #*+q yTTeTT m+?

2.4  ueTT eT]jTT qweTT :
2008  syT & +|  `1,50,000 ueTT b+~q~.

2009  syT & +|  `25,000  qweTT b+~q~.
		  syT & +| yTT<{ d+eseTT ueTTqT s d+eseTT qweTTqT 	
		  b+<T M\>TH ?
		  d+#T\T s>seTT qT+& n+>& e #sT = d\eTT\T #|&q$.

	

	 s>seTT	  yTT+ ybseTT	  \s ybseTT 

	 d+#T\T m& jsT #jT&T#Tq$?
	 jsT#jTTysT edTe\qT HsT> (djTeTT>) neTT#THs ?
	 edTe\T e]> me]<>Zs bsTT #sTqT ?

	 sC nqT |+& n+>& yb], |+&qT yTT ybs n+>& =, q n+>& nyTqT.
 sE , n&T | , e$T& |+&qT eT]jTT ns{ |+&qT = neTT#TH&T. <s 

|{ +&TqT = |+&T 2 <s\T (= n+>& { ) +&TqT.
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	 sC |+&qT es{ =q <sqT  =q<s n #|e#TqT. nqT |+&qT n+>& 
neTT<sqT neT|<s n #|<TsT.
	 |q e&jTTq <s |{ qT+& | eT]jTT e$T& |+& neT| <s < =q 
<s H  n~eTT> q~. n+>& y =q <s H =+#eTT n~eTT> \_+#T#Tq~. 
 n~yTq <sqT ueTT n #|e#TqT.

  	e$T& |+& n$Tq <s  =  e$T& |+&T =q <s G ueTT 
			   n$Tq <s   =  =q <s G ueTT
			       ueTT  =  n$Tq <s ` =q<s

                                     	   =  15 – 10
                          ueTT   =	   `5

			   ueTT R  n$Tq <s ` =q<s
	 | |+&,
	 | jTT neT|<s > | =q <s, n+<Te\q ueTT e#TqT. 

                	ueTT  =  n$Tq <s ` =q<s
		    =	 8 – 6
	                        ueTT =	 `2

	 ns{ |+&T o|TeTT> [be >TDeTT >\$. n+<T#  n+>&y&T y{ e<#jT+& 
neTT w|&qT. n+<Te\q, nqT ns{ |+&qT =+#eTT e <s (=q <s H 
e <s) nyTqT. =q <s qT+& Z+#&q <sqT qweTT n #|e#TqT.

	 ns{ |+&, 
	   ns{ |+& =q<s   >  ns{ |+& n$Tq <s, eq qweTT e#TqT.
	 ns{ |+& neT|<s  = ns{|+& =q<s ` Z+#&q <s

	                neT| <s = =q <s ` qweTT
                qweTT  = =q <s ` n$Tq <s
	                        qweTT	 = 3 – 2
	                        qweTT	 = `1
	                qweTT = =q <s ` n$Tq <s

	 1.  edTe n$Tq <s, =q<s H n~eTT> +&TqsTT, ueTT b+<>\sT.
		  ueTT R n$Tq <s ` =q<s
	 2.  edTe =q<s , n$Tq <s H n~eTT> +&TqsTT , qweTT b+<>\sT.
		  qweTT R =q<s ` n$Tq<s
	 3. neT| <s R =q <s G ueTT
	 4. neT| <s R =q <s ` qweTT
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     ueTT / qweTT XeTTqT qT>=qT : 
swt `10,000  edTe\qT = y{ `11,000  n$Tq+<Tq `1000 ueTTqT 

b+<qT. nsTT syTwt `1,00,000  edTe\qT = `1.01,000  n$Tq+<Tq `1,000 
ueTTqT b+<qT.
	 y]<sT  ueTTqT b+~qq, y]<sT  $<yTq |*eTTqT d+b~+#sT n 
#| M\>TH? M\T<T.
	 mesT n~ ueTT rdjTTHsT n \TdT=qT, ueTTqT |T& <s b\ 
eqT.	 XeTT> yjTTq|&T d+U\qT b\T dT\ueT>T#Tq~. qT, uXeTTqT 
qT>=qTeTT. 

	 swt `10,000 |T& |Tq|&T `1,000 ueTT b+<T#TH&T.

	 nq> `10,000  `1,000 ueTT b+<qT.

	 n+<Te\q, =  `1 \_+#T 	 	
	 ueTT 

10000
1000  n>TqT

    { `100  ueTT = 
,10 000

1000 100#

        uXeTT	  =	10%

syTwt ̀ 1,00,000 |T& |Tq|&T 
` 1000 ueTTqT b+<qT.	

 `1,00,000  `1000 ueTT	=
100000
1000

	
     uXeTT = 

100000
1000 100#   = 1%

|q #|&q < qT+& swt , syTwt  H n~ ueTT b+<qT n #|e#TqT.

	        {,          uXeTT  =
ueTT

 =q <s I 100

	 n< $<eTT>, qwXeTTqT qT>=q&T#Tq~

                              	qwXeTT =  qweTT
 =q <s I 100

	 u XeTT () qw XeTT qT>=qTq|&T  edTe jTT =q<s eyT 	       
    +#e\jTTqT.

1)	 VseTT 100 > >\ = _qeTTqT 
__________ n #| e#TqT.

2)	
2
1  = _________%

3)	 35% = _________ (_qeTT)
4)	 0.05 = _________%
5)	

4
1  = __  %
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<VsD 2.18
	  yTTyb],  f*$H d{qT `10,000 =, `12,000 \ nyTqT.  
f*$H jTT ueTT / qweTTqT qT>=qTeTT. 5 f*$H \T n$Tq+<Tq \_+#T ueTT / 
qweTT yTTeTTqT qT>=qTeTT.

	  k<q :
	                   f*$qT neT| <s  =  `12,000

	                                 f*$H =q <s  =  `10,000     

	            neT| <s > =q <s, n+<Te\q ueTT \_+#TqT 

			                          ueTT = neT| <s –  =q<s
                                                               = 12000 – 10000

                                                      ueTT =	 `2,000

 f*$H\T n$Tq+<Tq _+q ueTT  =	 `2,000

	5 f*$H\T n$Tq+<Tq _+q ueTT    =	 2000 × 5

	5 f*$H\T n$Tq+<Tq _+q ueTT	 =	 `10,000

<VsD 2.19
	 d+jYT  d\TqT `5,000 \ =HqT. s+&T d+eseTT\ sTy ` 600  
Z+ nyTqT. d\T jTT n$Tq<s eT]jTT qwXeTTqT qT>=qTeTT.

	  k<q :
	  d\T =q<s 	 = 	 `5000

	 qweTT 	 =	 `600

	 neT| <s 	 =	  =q <s –  qweTT

		  =	 5000 – 600

	 d\T neT| <s 	 =	 `4400

	 qwXeTT 	 =
 qweTT

 =q <s I 100

		  =	 100
5000
600

# ￼

		  =	 12

	 qwXeTT 	 =	 12%
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	 <VsD 2.20
	  e  b d\TqT `1,250 \ =HqT. < u>T #jTT `250 qT KsT 
|fqT. nqT < `1400 \ nyTqT. n jTT ueTT  qw XeTTqT qT>=qTeTT.
	 k<q :

	  d\T =q <s	 = 	 `1,250

	  u>T#jTT nsTTq KsT	 =	 `250

	  yTTeTT =q <s 	 =	 1250 + 250 = `1,500

	 neT| <s	 =	 `1,400

	 =q <s 	 >	 n$Tq<s, qweTT @s&TqT.

	 qweTT	 =	 =q<s  –  n$Tq<s

		  =	 1500 – 1400

		  =	 100

	 qweTT	 =	 `100

	 qwXeTT 	 =  qweTT
 =q <s 

I 100

		  =	
1500
100 100#

		  =	
3
20

		  =	 6
3
2   () 6.67

	 qwXeTT 	 =	 6.67%￼

	 <VsD 2.21
	   |+& yb] 8 |f\ <qT,  |f <s `150  =HqT. <  |f 
[bsTTq~. $T*q |f\qT  |f <s `190  nyTqT. B qT+& ueTT / qw 
XeTTqT qT>=qTeTT.

	  k<q :
	  |f < =q <s	 =	 `150

 	 8 |f\ < =q<s	 =	 150 8#

		  =	 `1200

	   [bsTTq |f\ d+K	 =	 1

	 n$Tq |f\ d+K 	=	 8 – 1

		  =	 7
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	  |f n$Tq <s 	=	 `190

	 7 |f\T n$Tq <s 	=	 190 × 7

		  =	 `1330 

	  n$Tq <s 	>	  =q <s, ueTT \_+#TqT

	 ueTT 	=	 n$Tq <s – =q<s

		  =	 1330 – 1200

		  =	 130

	 ueTT 	=	 `130

	 uXeTT	 = ueTT
 =q <s I 100

		  =	
1200
130 100#

		  =	 10.83

	 uXeTT	 =	 10.83%

	 <VsD 2.22
	 seTT nqT n+>{y&T  \eTTqT `50  = `5. qweTTq nyTqT. \eTT 
neT| <sqT qT>=qTeTT.

	  k<q :

	  \eTT =q<s 	=	 `50

	  qweTT	 =	 `5

	 neT|<s 	=	  =q<s –  qweTT

		  =	 50 – 5

		  =	 45

	 \eTT neT|<s 	=	 `45.

	 <VsD 2.23
	   bsX\ sT>T eeTTq X  jsT #dqT.   =q <s `55 
n>TqT. yT = qT `11 ueTTq 25 \qT n$TjTT+&q \ neT| <sqT  
eT]jTT uXeTTqT qT>=qTeTT. 
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	  k<q :
	   =q<s	 =	 `55

	  n$Tq\ d+K 	=	 25

	  25 \ =q <s	 =	 55 × 25 = `1375

 	 1  ueTT	 =	 `11

	 25 \ ueTT	 =	 11 × 25 = `275

	 neT|<s 	=	  =q<s +  ueTT

		  =	 1375 + 275

		  =	 1,650

	 neT|<s	 =	 `1,650

	 uXeTT	 = ueTT
 =q <s I 100

		  =	
1375
275 100#

		  =	 20

	 uXeTT	 =	 20%

nudeTT 2.4
	 1.	  dsq yTqT mqT=qTeTT :

	 i)	  d+ =q <s  `575 eT]jTT n$Tq<s `625 > +&q ueTT `
		  	(n) 50		  () 575	    () 625	 ()  $ @$jTT <T
	 ii)	  |f =q<s `155 eT]jTT n$Tq <s `140 > +&q qweTT ` 

	 (n) 155 	 () 140               () 15           ()  $ @$jTT <T

	 iii)	  d+ n$Tq <s `235 eT]jTT =q<s `200 >+&q 

	 (n) ueTT `235		  ()  qweTT  `3

	 () ueTT  `35		  ()  qweTT `200

	 iv)	 ueTT  qw XeTT m\|&T ............ MT<  #jT&TqT

	 (n) =q <s   	 () n$Tq <s	 () ueTT	 () qweTT 

	 v)	  e `250 \ =q edTeqT `25 ueTTq nyTqT < uXeTT. 

	 (n) 25	 () 10	 () 250	 () 225
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	 2.	  +~ e&q |{qT |P]#jTTeTT 

 =q<s 
`

n$Tq <s  
`

ueTT  
`

qweTT 
`

144 168

59 38

600 635.45

26599 23237

107.50 100

	 3.	 =q<s eT]jTT ueTT / qweTT e&jTTq~. y{ neT| <sqT qT>=qTeTT.

		  i)	  =q<s  =  `450	 ueTT =  `80

		  ii)	  =q<s  =  `760	  qweTT  =  `140

		  iii)	 =q<s  =  `980	 ueTT =  `47.50

		  iv)	 =q<s  =  `430	  qweTT  =  `93.25

		  v)	  =q<s  =  `999.75	  qweTT  =  `56.25

	 4.	 $H<  +{ `27, 50,000 \ =HqT. n&T +{ u>T#jTT `2,50,000        
\qT KsT#dqT.  +{ `33,00,000\ nyTqT. nsTTq, u () qwXeTTqT 
qT>=qTeTT.

	 5.	  n+>{ yb] 10 ns{|+&qT ̀ 100 rdT=HqT. y{ 2 ns{|+&T [bjTqT. 
$T*jTTq |+&qT  |+&T `11  nyTqT. n \_+q u () qwXeTTqT 
qT>=qTeTT. 

	 6.	  n+>&y&T 100 \eTT\qT `250 \ =HqT. = \eTT `4 nyTqT. 
uXeTTqT qT>=qTeTT. 

	 7.	  Ls>jT\ yb] 40 .> ms>&\qT `360 \ =HqT. nqT  .> `11 
<s 36 .>\qT nyTqT. $T*jTTq y{  > `4.50 \ <s nyTqT. n 
\_+q u / qwXeTTqT qT>=qTeTT.

	  edTe s>seTTq+<T  #d jT 
eq|{ qT+& =qT>\T <sT\qT #sTq+ es 
esTq{ yssT d\eTT\T @$?
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			  +#TeTT !
	      #jTT ys djTeTT> (HsT>) n$Tq, =qT>\T <sT\ kseTT> 
+&TH? #]+#TeTT.

MTsT #d #&+&:
	 1.	 .> `100, `80 \T q s+&T seTT\ qH\qT  yb] 3: 2 nqT w *| 

<  .> `101.20 \ neTT#TH&T. n u  qwXeTTqT qT>=qTeTT.

	 2.	 drwt  yTsqT sCwt 10% ueTTq nyTqT, sCwt < CH <>Zs 12% 
qweTTq nyTqT, CH `4,840 #*+jTT+&q,  yTsqT drwt m+ <s =HqT?

	 3.		  |deTT\ yb]  |deTTqT 5% qweTTq neT+& 5% ueTTq 
n$Tq|&T `15 n~eTT> _+q~. nsTTq |deTT =q <sqT qT>=qTeTT. 

	2.5  usTe&  (Simple Interest)

	 `10,000 qT |&T #*+ 7 d+eseTT\ e] s. 20,000qT rdT=qe#TqT.
	 `10,000 qT |&T #*+ 6 d+eseTT\ e] s. 20,000qT rdT=qe#TqT.

	 wt qT VQeT> rdq `5,000 qT pH 2008 d+ u+ |T&> 
ydjTT+&qT.

	  d+eseTTq s s.5,400 \T> ]b+<qT. nqT m+<T me &TqT 
rdT=H&T?

	 m+ &T\T n n~eTT> \_+q~ ?	
	 `5,000 qT nqT q d+ +#T= jTT+&q, `400 qT ueTT> rdT= 

jTT+&T M\>TH? 
	 wt `5,000 qT  d+eseTTq |T&> #*+,  d+eseTT e]  
	 ` 5,400 > rdT=HqT.

     |dTeTT  `10,000 |T& 
|TeTT 7 d+eseTT\ s 
`20,000  rdT=qTeTT  |dTeTT  `10,000    

 |T& |TeTT 6  
 d+eseTT\ s 
`20,000 rdT=qTeTT.
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	 eTqeTT n|> rdT=qTq|&T rdT=qT keTTH n~eTT> #*+#<eTT. n< 
deTjTeTT n| #Tq|&T #T keTTH n~yTq keTTqT rdT=+<TeTT.  n~yTq 
keTTqT e& ( I ) n >T]+#T#THeTT. 
	 |q #|q d+<seTT, wt  ̀ 400 qT e&> (I) rdT=HqT. ̀ 5,000 n|> rdT=qT 
() #T#Tq keTTqT nd\T (P) n >T]+#T#THeTT.
	  $<eTT> |T&> (eTT+<T>) #*+q s.5,000 \T nd\T n>TqT.
	 nd\T e& *dq keTT, yTTeTT (A) n>TqT.
	 | $<eTT #|q yTTeTT = nd\T G e&
	 			          =	`5000 + `400 = `5,400.
	 e& nqTq~ m\|&  e~]> +&beH?
	 XjTeTT> +&<T, |&T +~ e#T d+|Tq\qT ##<eTT.

	 (i)	 |T& keTT> #*+#&T nd\T `5,000 \ qT+& `10,000 > 
me>Tq|&T, e& L& me>TH?

	 (ii)	 n< $<eTT>, `5,000 me d+eseTT\ |T&> +#Tq|&T e& 
keTT me>TH ? 

	 neqT. |q #|q s+&T d+|Tq\ e& n~eT>TqT. |q #|q $<eTT> nd\TqT { 
eT]jTT |T& keTT q d+eseTT\qT {jTT e& n~eT>TqT.  e&sTqT {jT 
~ esTqT.
	 d+es b&eq `100  e&sT> +#&TqT. nq>, d+eseTTq e& sT 
10% > +&q  d+eseTTq `100  `10 e& > b+<e#TqT.  

qT, e& +~ e&q y{ d++~+ jTT+&TqT.
	 nd\T> #*+#&T () rdT=qT keTT (P) \eTT (n) (nHeTT> d+eseTT\T> 
e+&TqT) e& sT (r)
	  e&, nd\T keTTqT nqTd]+ eyT +&T e\q B usTe& () k<sD 
e& n >T]+#T#THeTT. 

e& qT>=qT :
	 nd\T `100 >qT, e& sT 'r' >qT +&q

	 1 d+eseTTq e& 100 1 r
100

# #=

	 2 d+eseTT\ e& r100 2
100

# #=

	 3 d+eseTT\ e& r100 3
100

# #=

	 n d+eseTT\ e& n r100
100

# #=

	                   eq, (e&) I    =  Pnr
100
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	 yTTeTT  (A)	 =	 P I+

	 A	 =	 P Pnr
100

+

	 A	 =	 P nr1
100

+` j

	 e&	 =	 yTTeTT – nd\T 
	 I	 =	 A – P

	 I	 =	 Pnr
100

 nqT deTT qT+& +<qTq deTT\qT b+<e#TqT.

	 r	 =	 100
P

I
n

 

	 n	 =	 100
P

I
r

	 P	 =	
rn
I100

	 >eT : ‘n’ nqTq~ m\|&T d+eseTT +#&TqT. ‘n’ H\\, sE\ 
+&q < d+eseTT\T> e] +#&e\jTTqT.
	 U d\eTT\qT |P]+|eTT :

nd\T
`

 e& 
`

 yTTeTT 
`

5,000 500
12,500 17,500

6,000 25,000
8,450 750

12,000 15,600
<VsD 2.24

	 eT  d+eseTTq 7 % e& sT `3,000qT \jTT+#qT.  d+eseTT 
eTT+| nqT rdT=qT usTe&, yTTeTTqT qT>=qTeTT.

	 k<q :
	 nd\T (P)	 =	 `3,000

	  d+eseTT\T (n)	 =	 1

	 e&sT (r)	 =	 7 %

	 usTe&  (I)	 =	 Pnr
100

		  =	
100

3000 1 7# #
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	 I	 =	 `210

	 A	 =	 P + I

		  =	 3000 + 210

	 yTTeTT  (A)	 =	 `3,210

<VsD 2.25 
s~ d+eseTTq 11 % e& sT `5,000 qT 2 d+eseTT\ |T&> 

#*+#qT, 2 d+eseTT\ eTT+| yT b+<T usTe&, yTTeTTqT qT>=qTeTT. 

k<q :	  	

			    nd\T (P)	    =	 `5,000

	  d+eseTT\T (n)	 =	 2 d+\T

	 e&sT (r)	 =	 11 % 

	 I	 =	 Pnr
100

		  =	
100

5000 11 2# #

		  =	 1100

	 I	 = 	 `1,100

	 yTTeTT (A)	 =	 P + I 

		  =	 5000 + 1100

	 A	 =	 `6,100

<VsD 2.26 
`7,500  \ 8 % e&sT  d+eseTT 6 edeTT\ usTe&, yTTeTTqT 

qT>=qTeTT.
 k<q :  
		        P	   = 	 `7,500

	 n	 =	 1 d+eseTT 6 edeTT\T

		  =	  1
12
6  d+\T

		  =	 1
2
1 =

2
3  d+\T

	 r	 =	 8 %

		   \Tk?
	 12 edeTT\T = 1  d+eTT	
	 6 edeTT\T  = 

12
6 year=  d+eTT

		          
2
1=  d+eTT

          3 edeTT\T  = 12
3 year=  d+eTT

		         
4
1=  d+eTT
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	 I	 =	 Pnr
100

		  =	  
100

7500
2
3 8# #

		  =	
2 100

7500 3 8
#
# #

		  =	 900

	 I	 =	 `900

	 yTTeTT  (A)	 =	 P + I

		  =	 7500 + 900

		  =	 `8,400

	 e& 	 =	 `900,   yTTeTT  = `8,400

 eTs= |<:

	 P	 = 	 `7,500

	 n	 =	
2
3    d+eseTT\T 

	 r	 = 	 8 %

	 yTTeTT  (A)	 =	 P nr1
100

+` j

		  =	 7500 1
100
2
3 8#

+e o

		  =	 7500 1
2 100
3 8
#
#+c m

		  =	 7500
25
28` j

		  =	 300 28#

		  =	 8400

	 A	 =	 `8400

	 I	 =	 A – P

		  =	 8400 – 7500

		  =	 900

	 I	 =	 `900

	 e& 	 =	 `900

	  yTTeTT 	 =	 `8,400
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<VsD 2.27
`6,750 \ 219 sE\ 10 % e& sTq usTe& eT]jTT yTTeTTqT qT>=qTeTT. 

	  k<q :
	 P	 =	 `6,750

	 n	 =	 219  sE\T

		  =	
365
219   d+eTT = 

5
3   d+eTT

	 r	 =	 10 %

	 I	 =	 Pnr
100

	 I	 =	
5

6750 3
100

10
#
# #

		  =	 405

	 I	 =	 `405

	 A	 = 	 P + I

		  =	 6750 + 405

		  =	 7,155

	 A	 =	 `7,155

	 e& 	 =	 `405, yTTeTT = `7,155

<VsD 2.28
sVQ `4,000 qT 07-06-06  rdT= < 19-08-06  ] #*+#qT. 5 % 

sTq e& +#&q, nqT #*+q yTTeTTqT qT>=qTeTT? 

	  k<q :
	 P	 =	 `4,000

	 r	 =	 5 %

	  sE\T,    pH	 =	 24 (30 – 6)

	 p 	 =	 31

	 >w 	 =	 18

	  yTTeTT sE\T 	 =	 73

	 n	 =	 73 sE\T

	  ~  *jTTH?
	 365 sE\T	 =	 1  d+eTT

	 219 sE\T	 =	
365
219   d+eTT

		  =	
5
3   d+eTT

	 73 sE\T	 =	
365
73   d+eTT

		  =	
5
1   d+eTT

	  ~  \Tk?
	@|, pH, d|+sY eT]jTT 
qe+sT H\\ 30 sE\T 
+&TqT. |e] | $T*q 
H\\ 31 sE\T +&TqT.
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		  =	
365
73   d+eseTT

		  =	
5
1   d+eseTT

	 A	 =	 P nr1
100

+` j

		  =	
5
14000 1

100
5

#
#+c m

		  =	 4000 1
100
1+` j

		  =	 4000
100
101` j

		  =	 4,040

	 yTTeTT	 =	 `4,040

<VsD 2.29 
`7,000 nd\T 16 edeTT\ `1,680 usTe& \_+q e& sTqT qT>=qTeTT.

	 k<q :
	 P	 =	 `7,000

	 n	 = 	 16  edeTT\T
		  = 16 4

12 3= d+eseTT d+eseTT

	 I	 =	 `1,680

	 r	 =	 ?

	 r	 =	 100
P

I
n

		  =	
7000

3
4

100 1680

#

#

		  =	
7000 4

100 1680 3
#

# #

		  =	 18

	  e& sT  (r)	 =	 18 %

<VsD 2.30
	 $jYT `10,000 qT 5 % e&sTq |T&> #*+#qT. = d+eseTT\ sTy 
`11,000 b+<qT. d+eseTT\ d+KqT qT>=qTeTT.

	  k<q :  
	 A	 =	 `11,000
	 P	 =	 `10,000

=
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	 r	 =	 5 % 

	 n	 =	 ?

	 I	 =	 A – P

		  =	 11,000 – 10,000

		  =	 1,000

	 I	 =	 `1000

	 n	 =	 100
rP
I

		  =	
10000 5
100 1000

#
#

	  n	 =	 2  d+eseTT\T 

eTs= |<:

	 A	 =	 P nr1
100

+` j

	 11000	 =	 10000 n1
100

5#+` j

	
10000
11000 	 =	 1 n

20
+

	
10
11 	 =	 n

20
20 +

	 20
10
11

# 	 =	 0 n2 +

	 22	 =	 20 + n

	 22 – 20	 =	 n

	 n	 = 	 2  d+eseTT\T

	 <VsD 2.31 
	  >T]+q nd\T 8 % e& sT  >T]+q \eTT eT&+\T njTqT. m 
d+eseTT\ eT&+\T n>Tq qT>=qTeTT .

	 k<q : 
nd\TqT `P n nqT=+<eTT.

  	 	        yTTeTT    =   eT&+\T nd\T 

		  =	 `3 P

	 r	 =	 8 %

	 n	 =	 ?
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	 I	 =	 A – P

		  =	 3P – P

		  =	 2P

	 I	 =	 `2 P

	 n	 =	
Pr
100I

		  =	
8

100 2
P

P
#
#

	 n	 = 	 25  d+eseTT\T

	  d+eseTT\ d+K	 =	 25

	 eTs= |<:
	     nd\TqT `100 nqT=+<eTT 

	 yTTeTT	 =	 3 100#

		  =	 `300

	 I	 =	 A – P

		  =	 300 - 100

	 I	 =	 `200.

	 n	 = 	 100
P

I
r 100 8

100 200
#

#=

	 n	 =	
8

200  = 25

	  d+eseTT\ d+K 	= 	 25.

	 <VsD 2.32
	  >T]+q nd\T  8%  e& sT 5  d+eseTT\ `10,080  nsTTq~,  

	 nd\TqT qT>=qTeTT

	  k<q :
	 A	 =	 `10,080

	 n	 = 	 5  d+eseTT\T

	 r	 =	 8 %

	 P	 = 	 ?

	 A	 =	 P nr1
100

+` j
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	 10080	 =	 P 1
100
5 8#+` j

	 10080	 =	
5
7P` j

	 10080
7
5

# 	 =	 P

	 7,200	 =	 P

	 nd\T	 = 	 `7,200

<VsD 2.33 
	  >T]+q nd\T 6 d+eseTT\ `8,880 >qT 4 d+eseTT\ `7,920 >qT 
esT#Tq~. nd\T eT]jTT e& sTqT qT>=qTeTT.

	 k<q :
	 6 d+eseTT\ yTTeTT	 =	 nd\T + 6 d+eTT\ e& 
		  =	 8880P I

6+ =

	 4 d+eseTT\ yTTeTT	 =	 nd\T + 4 d+eTT\ e&  
		  =	 7920P I

4+ =

	 I
2
	 =	 8880 – 7920

		  =	 960

	 2  d+eseTT\ e& 	 =	 `960

	 1  d+eseTT e& 	 =	 960
2

		  =	 480

	 4  d+eseTT\ e& 	 =	 480 4#

		  =	 1,920

	 P I4+ 	 =	 7920

	 P 1920+ 	 =	 7920

	 P	 =	 7920 1920-

	 P	 =	 6,000

	 nd\T	 =	 `6,000

	 r	 =	
pn
I100

		  =	
6000 4

100 1920
#

#

	 r	 =	 8 %
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nudeTT 2.5
	 1.	  dsq yTqT mqT=qTeTT:
	 i)	 `1000  10 % e& sTq 2 d+eseTT\ usTe& 
		  	(n) `1000 		  () `200	         () `100	    	      () `2000

	 ii)	 yTTeTT R `11,500 eT]jTT nd\T R `11,000 nsTTq, e& 
	 (n) `500	 () `22,500	 () `11,000	 () `10,000

	 iii)	 6 edeTT\T R  
	 (n) 

2
1  d+eTT	 () 

4
1  d+eTT	 () 

4
3  d+eTT	 () 1 d+eTT

	 iv)	 292 sE\T = 
	 (n) 

5
1  d+eTT	 () 

5
3  d+eTT	 () 

5
4  d+eTT	 () 

5
2  d+eTT

	 v)	 P = `14000  eT]jTT  I = `1000,  nsTTq, A  nqTq~ 
	 	 (n) `15000	 () `13000  	 () `14000	 () `1000 	

	 2.	 `5,000 \ 10 % e&sTq 5 d+eseTT\ \_+#T usTe&, yTTeTTqT 
qT>=qTeTT.

	 3.	 `1,200  \ %121
2  e&sTq 3 d+eseTT\ \_+#T usTe&, yTTeTTqT qT>=qTeTT.

	 4.	 wt ̀ 10,000 qT d+eseTTq 10 % e& sTq e& #T  u+ |T&> 
#*+#qT.  yTTeTTqT 2 d+eseTT\T 3 edeTT\ sTy nqT ] b+<qT. 
nqT b+~q e&qT qT>=qTeTT. 

	 5.	 `2,500qT 13% d+es e& sTq |T&> #*+q, 146 sE\ b+~q 
yTTeTTqT qT>=qTeTT. 

	 6.	 `12,000 \ 9% d+es e& sTq yT 21,1999 qT+& >w 2,1999 es 
\_+#T usTe& eT]jTT yTTeTTqT qT>=qTeTT. 

	 7.	 d ̀ 6,000 qT  u+ #*+ 5 d+eseTT\ eTT+| ̀ 7500 qT b+<qT, 
nsTTq e&sTqT qT>=qTeTT. 

	 8.	 10 %  d+es e& sT 2
2
1  d+eseTT\ `250 \T, e& #T nd\T  

qT>=qTeTT.
	 9.	 m d+eseTT\  8 % e& sT `5,000 \T, `5,800 \T> esTqT ?
	 10.	  yTTeTT 10 d+eseTT\ s+&+\T> \_+#qT. nsTTq e& sTqT qT>=qTeTT. 
	 11.	  yTTeTT %12

2
1  d+es e& sT  >T]+q d+eseTT s+&+\T 

n>T#Tq~. d+eseTT\ d+KqT qT>=qTeTT.
	 12.	  >T]+q yTTeTT 6 % e&sT 3 d+eseTT\ `6,372 nsTTq~. nsTTq    

nd\TqT qT>=qTeTT. 
	 13.	  >T]+q yTTeTT 3 d+eseTT\ `6,500 >qT 1

2
1   d+eseTT\ `5,750 

>qT esT#Tq~.. nd\T, e&sTqT qT>=qTeTT. 
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			  +#TeTT !
            1)	  nd\T 2 d+eseTT\ 

4
9   sT n>TqT nq, < e& sT (XeTT) 

m+?

            2)	 |~ d+eseTT\T sTy seTT ̀ 6,00,000 e\djTTq~. d+eseTTq 
20 % #T u+ seTT nd\T> m+ |T& |e\jTTqT?

	

	 1.	  _qeTT VseTT 100 ()  w jTT s+&e |<eTT 100 > +&q, < 
XeTT n+<TsT.

	 2.	  XeTTqT % n >T]+#<eTT. XeTT nqTq~ q{ n nseTT.

	 3.	 _qeTTqT () <X+X d+KqT XeTT> esT < 100 # >TD+#e\jTTqT

	 4. 	 edTeqT rdT=qT <sqT =q<s n n+<TsT.

	 5.	  edTeqT neTT<sqT neT|<s n n+<TsT.

	 6. 	 edTe neT| <s =q<sH me> +&q ueTT \_+#TqT.

	 7. 	 edTe =q <s neT| <s H me> +&q, qweTT @s&TqT.

	 8.	 yTTeTT =q<s = =q<s + u>T#jTT KsT( ) syD KsT.

	 9.	 ueTT () qweTT  |]eDeTT >\ edTe\ eyT +#&e\jTTqT.

	 10. 	ueTT = neT| <s – =q <s

	 11.	 qweTT = =q<s – neT| <s

	 12.	 uXeTT  =  ueTT
 =q <s I 100
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	 13.	 qwXeTT   =  qweTT
 =q <s I 100

	 14.	 neT| <s = =q<s + ueTT	

	 15.	 neT| <s = =q<s – qweTT

	 16.	 e& qT>=qT deTT I 100
Pnr=

	 17.		 yTTeTT (A)	 =	 P + I  (nd\T G e&)

					     =	 P Pnr
100

+

					     =	 P nr1
100

+` j

	 18.		 e&  (I)	=	 A – P (	yTTeTT – nd\T)

	 19.		  P	 =	
nr
I100

	 20.		  r	 =	 100
P

I
n

	 21.		  n	 =	
Pr

I100  
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|eTT. 3.1

|eTT. 3.2

3.1	 deT\+ #TsTeTT (Trapezium)
#TsTeTT   m<T{ uTeTT\T <={ 

de+seTT> e+&q  #TsTeTT deT\+ #TsTeTT n>TqT.
de+s uTeTT\ eT< eq <seTT deT\+ #TsTeTT 

jTT mT n>TqT. & AD, BC \T de+seTT e.
nsTT, AB || DC.
deT\+ #TsTeTT de+seTT  uTeTT\T deTyTq( AD = BC ), < 

deT~uVQ deT\+#TsTeTT n #|e#TqT
+<T +A	 =+B ;   +C = +D

	 AC	 =	 BD

	 +A + +D	 =	 180° ;  +B + +C = 180°

deT\+ #TsT yX\eTT (Area of a trapezium)

ABCD nqT deT\+ #TsTeTT AB, DC nqTq$ de+s uTeTT\T. y{ 
uTeTT\T eTeTT> ‘a’, ‘b’ n>TqT. de+s uTeTT\ eT< eq <seTTqT ‘h’. n #|e#TqT. 
seTT BD deT\+ #TsTeTTqT ABD,  BCD nqT s+&T uTeTT\T> $u+#TqT. 

	deT\+ #TsT yX\eTT
           =	 DABD  yX\eTT + DBCD yX\eTT

           =	 h h
2
1

2
1AB DC# # # #+

           =	 h
2
1 AB DC# +6 @

           =	 h a b
2
1
# +6 @ #.|eDeTT\T

`  deT\+ #TsT yX\eTT = 
2
1
#  mT #  (de+s uTeTT\ yTTeTT) #.|eDeTT\T

<VsD 3.1
 deT\+ #TsTeTT jTT de+s uTeTT\ b&e\T 12 d+.MT., 8 d+.MT. 

y{ eT< e+&T \+<seTT 10 d+.MT. deT\+ #TsT yX\eTTqT qT>=qTeTT.

=\\T

|eTT. 3.3
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k<q :
h = 10  d+.MT, a = 12  d+.MT, b = 8  d+.MT n e&q~

	deT\+ #TsT yX\eTT    = h a b
2
1
# +^ h

		       = 
2
1 10 12 8# # +^ h = 5 20# ^ h

	\ deT\+ #TsT yX\eTT = 100 d+.MT2

<VsD 3.2
	  deT\+ #TsT yX\eTT 100 #.d+.MT. de+s uTeTT\ b&e\T                       
15 d+.MT., 10 d+.MT. nsTTq  uTeTT\ eT< <seTTqT qT>=qTeTT

k<q :
a = 15  d+.MT, b = 10  d+.MT, yX\eTT = 100 #.d+.MT.n e&q~

       deT\+ #TsT yX\eTT =  100

	 h a b
2
1 +^ h	 =	 100

	 h
2
1 15 10# # +^ h	 =	 100

	 h 25# 	 =	 200
	 h	 =	

25
200  = 8

`  de+s uTeTT\ eT< eq <seTT = 8  d+.MT.
<VsD 3.3

	  deT\+ #TsT yX\eTT 102 #.d+.MT. \+ <seTT 12 d+.MT. deT\+ 
#TsTeTT jTT de+s uTeTT\  uTeTT b&e 8 d+.MT. nsTTq += uTeTT 
b&e m+?

k<q :
yX\eTT = 102 d+.MT2, h = 12 d+.MT., a = 8 d+.MT..n e&q~

	 deT\+ #TsT yX\eTT	 =	 102
	 h a b

2
1 +^ h	 =	 102

	 b
2
1 12 8# # +^ h	 =	 102

	 6 (8 + b)	 =	 102
	 8 + b	 =	 17     &    b = 17 – 8 = 9
  	̀  eT]jTT uTeTT b&e = 9 d+.MT

eTT eT&# |<:
@<q  =\ deT\+ #TsTeTTqT  #sT ̂ jTTeTT. deT\+ #TsTeTTqT 

]+ $&> rdT=qTeTT. DC nqTq~ AB  |q e+&TqT eT< eT&q EF e#TqT.
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|eTT. 3.4
EF nqTq~ deT\+ #TsTeTTqT (|eTT 3.4 (ii)  #|qT) s+&T                   

u>eTT\T> $u+#TeTT.
EF  \+eTT> D qT+ DG qT ^jTTeTT. e#T eT&T u>eTT\qT $&$&> 

]+#T=qTeTT
|eTT3.4(iii) #|qT eTeTT> e+q Bs#TsdeTT e#TqT.                             
< b&e AB + CD = a b+  eT]jTT y&\T = 

2
1 ( deT\+ #TsTeTT mT) = h

2
1

	 `  deT\+ #TsT yX\eTT = Bs #Tsd yX\eTT(|eTT 3.4(iii)  #|qT)
		  =	 b&e #  y&\T
		  =	 a b h

2
1+^ `h j

		  =	 h a b
2
1 +^ h #.|eDeTT\T

nudeTT 3.1
	 1.	 d]jTq yTqT mqT=qTeTT.
	 i)	 deT\+ #TsT yX\eTT ____________#.|eDeTT\T
	 (n) h a b+^ h	 () 

2
1  h (a + b)	 () h a b-^ h	 (D) 

2
1  h (a – b)

	 ii)	 deT~uVQ deT\+ #TsTeTT deT\+ #TsTeTT jTT 
	 (n) de+seTTuTeTT\TdeqeTT	 () de+suTeTT\T deqeTT
	 () mT R u$T 	          () de+s uTeTT\T R de+seTT  uTeTT\T

	 iii) 		  deT\+ #TsTeTT de+s uTeTT\ yTTeTT 18 d+.MT., \+|fT 		
15 d+.MT. nsTTq < yX\eTT

	 (n) 105 d+.MT.2	 () 115 d+.MT.2	 () 125 d+.MT.2	 () 135 d+.MT.2
	 iv)	 de+s uTeTT\ yTTeTT 20 d+.MT. >\ deT\+ #TsT yX\eTT 80 d+.MT.2 

nsTTq < mT
	 (n) 2 d+.MT. 	 () 4 d+.MT. 	 () 6 d+.MT. 	 () 8 d+.MT.



n<jTeTT 3

50

	 2.	 deT\+ #TsT de+s uTeTT\ eT< eq <seTT (mT), de+s uTeTT\T 
e&q$. y{ yX\eTT\qT qT>=qTeTT:

		    i) mT R 10 d+.MT., de+s uTeTT\T R 4 d+.MT., 6 d+.MT.
		   ii) mT R 11 d+.MT., de+s uTeTT\T R 7.5 d+.MT., 4.5 d+.MT.
		  iii) mT R 14 d+.MT., de+s uTeTT\T R 8 d+.MT., 3.5 d+.MT.
	 3.	  deT\+ #TsT yX\eTT 88 d+.MT.2 \+ <seTT 8 d+.MT. deT\+ 

#TsT de+s uTeTT\  uTeTT b&e 10 d+.MT. nsTTq eT]jTT uTeTT  
b&eqT qT>=qTeTT.

	 4.	   deT\+ #TsT seTT eq~.  de+s uTeTT\T 40 MT, 30 
MT. de+s uTeTT\ eT< eq <seTT 25 MT.  yX\eTTqT qT>=qTeTT.

	 5.	  deT\+ #TsT yX\eTT 960 #.d+.MT. < de+s uTeTT\T 40 d+.MT., 
60 d+.MT. nsTTq y{ eT< eq <seTTqT qT>=qTeTT.

3.2 	 eeTT (Circle)
eTq  J$eTT #\T, HDeTT\T, ]+>T\T,        

>E\T, sd #+(giant wheel), +b &dt (C.D.) +{ 
nH edTe\qT #dTHeTT 

	 n$ @ seTT eq$?
	 eseTT, eseTT, eseTT
	 neqT eseTT. >DeTT B eeTT n 
#|#THsT. |&T eeTTqT ^jTT |jT+#<eTT.

@<q  b&e >\ <seTTqT rdT= |eTT 
#|qT <  =qqT O nqT _+<Te e< >{> |T=qTeTT. eT]jTT =q | 
( #|dT)qT { <seTTqT k>Bd A nqT _+<Te e+#TeTT. <seTTqT >{> |T= 
| <*+#T+T seqT. | ] A e< eq y+H *|yjTTeTT. |&T 
| ^q uqT >eT+#TeTT.

	 | ^q u ee? dssKH?
e+ 
neqT, e&q deT\eTT |q,  ds_+<Te qT+& deq <seTT ~ _+<Te\  

u  eeTT nq&TqT.
eeTT u>eTT\T (Parts of a Circle)

ds _+<TeqT e+<eTT n+<TsT.
	 ds _+<Teq, #*+# _+<Teq eT< e+&T ds 
<seTTqT eykseT+<TsT.

nq> e+<eTTqT  n+#T>, eeTT |q eq 
@<q  _+<TeqT eT]jTT n+#T> >\ sUK+&eTT 
ykseTT n>TqT. ykseTTqT‘r ’ n >T]+#<sT.

	 eeTT |q eq @<q s+&T _+<Te\qT \T| sUK+&eTT C nq&TqT

|eTT. 3.5

|eTT. 3.6
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e+<eTT <s y CqT ydeTT n+<TsT. ydeTTqT‘d ’ n >T]+#<sT.
$T* b&yq C ydeT>TqT(n+f 2d r= )

	 ydeTT eeTTqT s+&T deTu>eTT\T> $u+#TqT. = u>eTT nseeTT 
nq&TqT.

e |]~  (Circumference of a circle):
yjeTeTT #jTT qT es u 

k] |]>qT. nqT |]>q yTTeTT <seTTqT 
MT =\T#T M\>TH? 

u eseTT> e+&T e\q, <seTTqT 
=\T#T =\<qT |j+#eTT.

eTqeTT @$T #jTeqT? 
 sbsTT HDeTTqT rdT=qTeTT. HDeTTqT 

eTT|q e+ < #T sKqT ^dq sTy 
eTT qT+ HDeTTqT rdyjTTeTT. ^q sK |eTT 
(3.8) #|qT A nqT _+<TeqT >T]+#TeTT. 

 <seTTqT rdT=  n+#T A e< e+#TeTT. ^q 
sK|q <seTTqT d]>Z |T= seqT. <seTT ] A e< 
eq|&T <seTTqT ]+yjTTeTT. ~ <seTT jTT += 
n+#T n>TqT. 

<seTT b&e, HDeTT |]~ n>TqT.
	 {,

eeTTqT  k] #T{ e#T <seTT e |]~ nq&TqT. |]~ ‘C’  >T]+#<sT. 
nq> e #TT=\ |]~ n>TqT.

e |]~, ydeTTq eT< eq d++<eTT. 
(Relation between diameter and circumference of the circle)
	 3.5 d+.MT., 7 d+.MT., 5 d+.MT., 10.5 d+.MT. ykseTT >\ H\T>T                            
eeTT\qT (b<jTT dVjTeTT) ^jTTeTT. ydeTTqT =\<, |]~ <seTT 
dVjTeTT (|eTT 3.9 #|qT) qT>=qTeTT.

    eeTT q n ykseTT\T 
 =\ e+&TqT

+#TeTT:
 eeTT m ydeTT\qT 
*jTT+&TqT

|eTT 3.7

|eTT 3.8

dk eT  eseTT> eq @<q  edTeqT rdT= 
< |]~ qT>=qTeTT. M e|]~, eydeTTq eq 
d++<eTTqT qT>=qTeTT.
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|eTT. 3.9

	 y{ |{ 3.1 ||+#TeTT. |]~, ydeTTq eq w qT>=qTeTT. 

  eeTT ykseTT ydeTT   
(d  ) |]~(C) w C

d
` j

1 3.5 d+.MT 7 d+.MT 22 d+.MT
7
22  = 3.14

2 7 d+.MT 14 d+.MT 44 d+.MT
14
44

7
22=  = 3.14

3 5 d+.MT 10 d+.MT ---- ----

4 10.5 d+.MT 21 d+.MT ---- ----

 |{ 3.1

 | |{ qT+ @$T \TdT=He? w C
d

` j CsTT+|> deqeTT> eq<?

 neqT !
C
d

	 = 3.14    &   C = . d3 14^ h

	 {, eeTT jTT |]~, 3 sT ydeTT +f me> e+&Tq #|e#TH?

 neqT !

n+{ C
d

 $\Te  ds d+K.  dsd+KqT r  nqT ^ nseTT >T]+#<eTT. 

(B | n #<TeeTT) B CsTT+| $\Te
7
22    3.14.

eq,	 C
d

 = r    &    C = dr   |eDeTT\T	 +<T d nqTq~ e ydeTT 

n>TqT. e ydeTT, 2 sT ykseTT n eTq *jTTqT. nq> d  = r2 .

{, | deTT qT+ C = dr  = r2r^ h &   C = r2r  |eDeTT\T
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r  $\TeqT nH eT+~ >D Xdy\T >D+eHsT.

u_jTqT	 :	 r  = 3	 ^\T	 :	 r  = 
7
22   3.14

syT&dt 	 :	 3
7
1  < r  < 3

71
10 	 su 	:	

2000
62838r =  () 3.1416

|&T 
7
22r =  () 3.14 nqT $\TeqT |j+#<eTT

<VsD 3.4
21 d+.MT. ydeTT> >\ eeTT jTT #TT=\qT qT>=qTeTT.
k<q :
	ydeTT q+<Te\q, eeTT jTT #TT=\ = dr

					              = 
7
22 21#      	 +<T 

7
22r =

					              = 66  d+.MT

<VsD 3.5

3.5 d+.MT. ykseTT> >\ eeTT jTT #TT=\qT qT>=qTeTT.
k<q :

ykseTT q+<Te\q, eeTT jTT #TT=\ = r2r

						      = 2 .5
7
22 3# #

						      = 2 × 22 × 0.5
						      = 22  MT 

<VsD 3.6
	 88 d+.MT. b&e >\  MT  eeTT> e+#&q~. e ykseTTqT qT>=qTeTT.

k<q :
                                MT b&e = 88 d+.MT.
	         eeTT jTT #TT=\ = MT b&e
	 r2r  	 = 	88
	 r2

7
22

# # 	 =	 88

	 r	 =	
2 22
88 7
#
#  = 14 d+.MT.

`  e ykseTT 14 d+.MT. n>TqT.

<VsD 3.7
	  d #+ ydeTT 63 d+.MT. #+ 20 ksT ueTDeTT #+~q, n~ |jT+q 
<syT+?
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k<q :
		       #eTT  |P] ueTDeTT #dq,

       	 |P] ueTDeTTq |jT+q <seTT = #eTT jTT |]~
	 `  #eTT jTT |]~	 =	 dr  |eDeTT\T
		  =	

7
22 63#  d+.MT.

		  =	 198 d+.MT.
	   |P] ueTDeTTq |jT+q <seTT	 =	 198 d+.MT.
	 `  20 ueTDeTT\ |jT+q <seTT	 =	 20 × 198 d+.MT.
		  =	 3960 d+.MT.
		  =	 39 MT 60d+.MT[100d+.MT= 1 MT.]

<VsD 3.8
8800 d+.MT. <seTT |jT+#eqq ~# yVqeTT jTT #+ 50 ksT 

ueTDeTT #jTTqT. #eTT jTT ykseTT m+?
k<q :
	 |jT+q <seTT = ueTDeTT\ d+U I #TT=\

	 #TT=\ 	=	 |jT+q <seTT
ueTDeTT\ d+U

	 r2r 	 =	
50

8800

	 i.e., r2r 	 = 	176

	 r2
7
22

# # 	 =	 176

	 r 	 =	
2 22
176 7
#
#

	 r 	 =	 28 d+.MT

  `  #eTT jTT ykseTT = 28 d+.MT.

<VsD 3.9
	 >Ts| +& #eTT jTT ykseTT 70 d+.MT. n~ 132 MT <seTT |jT+q 
#eTT m ueTDeTT\T #djTT+&TqT

k<q :
r  = 70  d+.MT, |jT+q <seTT R 132 MT n e&q~.

	̀  +& #eTT jTT #TT=\    = r2r

		             = 2
7
22 70# #

		             = 440  d+.MT
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             	|jT+q <seTT = ueTDeTT\ d+K I e|]~

	 `  ueTDeTT\ d+K	 =  |jT+q <seTT
e|]~

		  =	 132 MT
440 d+.MT

		  =	 13200 d+.MT
440 d+.MT

		  =	 30

	 `  ueTDeTT\ d+K = 30.
<VsD 3.10

 es b\eTT |]~ 44 MT. b\eTT eT<>  e &q~. b\eTT yTTeTT 
] >& yTjTTqT eqT  <seTT {q, eqT {q <seTT b&eqT qT>=qTeTT.

k<q :
          	<seTT b&e R eeTT jTT ykseTT

                	#TT=\ R 44 MT (e&q~)

             nq> r2r =44

                 r2
7
22

# # =44

                 r=
2 22
44 7
#
#  = 7 MT

`  eqT {q <seTT b&e R 7 MT

<VsD 3.11
 	 es |P\ ykseTT 56 MT.   +# yjTT MTsT s.5 KsT 
nsTTq, KsT yTTeTTqT qT>=qTeTT.

k<q :

                                    +# b&e = es |P\ #TT=\ 

                 |P\ #TT=\ =	 r2r

	                                                      = 2
7
22 56# #  = 352 MT

	                             `     +# b&e = 352 MT

   1 MTsT +# yjTT n>T KsT = `10

    `  352 MTs +# yjTT n>T KsT	 = `10 #  352
	                                                      = `3520

 `  +# yjTT n>T yTTeTT KsT `3520.

|eTT. 3.10

(1MT=100d+.MT,

132MT= 13200  d+.MT)
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<VsD 3.12
 es <qeqeTT #T +# yjTT  MTsT s.5 #=|q nsTTq 

yTTeTT KsT s.1100. <qeqeTT jTT ykseTT m+?
k<q :

    	+# yjTT n>T KsT = #TT=\ I KsT (K<T)

	 `  #TT=\	 =	
+# yjTT n>T KsT

K<T
	 nq> r2r 	 =	

5
1100

	 r2r 	 =	 220

	 r2
7
22` # # 	 =	 220

	 r 	 =	
2 22
220 7

#
#

		  =	 35 MT

	̀  <qeqeTT jTT ykseTT = 35 MT.

                   eTT - es jusT 
    #Tsks |\qT rdT= < eeTTqT ̂ jTTeTT. e |]~|q 
N\\qT =TeTT (|eTTqT #&TeTT)  ssT u+&T dVjTeTT 
nH seTTq, ydeTT\T, C\T, ykseTT\T sb+~+ y{ 
d++<eTTqT b\TeTT.

nudeTT 3.2
	 1.	 d]jTq yTqT mqT=qTeTT :

	 i)	 e+<eTTqT, eeTT |q eq @<  _+<TeqT \T| sU K+&eTT 
	 	 (n) ydeTT () ykseTT () C () @~jTT <T
	 ii)	 eeTT |q eq @yq s+&T _+<Te\qT \T| sUK+&eTT 
	 	 (n) ydeTT () ykseTT () C () @~jTT <T
	 iii)	 e +<eTT <s y C 
	 	 (n) ydeTT () ykseTT () C () @~jTT <T
    iv)	 e ydeTT 1 MT nsTTq < ykseTT
	 (n) 100 d+.MT. () 50 d+.MT. () 20 d+.MT. () 10 d+.MT

	 v)	 14 d+.MT. ykseTT> >\ eeTT jTT #TT=\
	 	 (n) 22 d+.MT. () 44 d+.MT. () 66 d+.MT. () 88 d+.MT
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	 2.	 +~ |{ U\qT |P]+|eTT:
ykseTT (r ) ydeTT (d ) #TT=\(c)

(i) 35 d+.MT ----- -----

(ii) ----- 56 d+.MT -----

(iii) ----- ----- 30.8 d+.MT

	 3.	 +~ =\\qT ydeTT\T> >\ eeTT\ #TT=\\qT qT>=qTeTT.
		  (i) 35 d+.MT		 (ii) 84 d+.MT		  (iii) 119 d+.MT	 (iv)  147 d+.MT.
	 4.	  +~ =\\qT ykseTT\T> >\ eeTT\ #TT=\\qT qT>=qTeTT.
		  (i) 12.6 d+.MT	 (ii) 63 d+.MT		  (iii) 1.4 MT	              (iv) 4.2 MT	
	 5.	  +~ =\\qT #TT=\\T> >\ eeTT\ ykseTT\qT qT>=qTeTT. 
		  (i) 110 d+.MT	 (ii) 132 d+.MT	 (iii) 4.4 MT		  (iv) 11 MT	
	 6.	 +& #eTT jTT ydeTT 2.1 MT. #eTT 100 ueTDeTT\T #dq +& |jT+q 

<seTTqT qT>=qTeTT.
	 7.	 es <qeqeTT jTT ydeTT 98 MT. <qeqeTT #T +# yjTT  

MTsT s. 4 KsT nsTTq KsT yTTeTTqT qT>=qTeTT.
	 8.	  #eTT 66 MT. <seTT y 20 ueTDeTT\T #dq  #eTT jTT ydeTTqT 

qT>=qTeTT.	
	 9.	  d #eTT jTT ykseTT 35 d+.MT. n~ 81.40 MT <seTT y m 

ueTDeTT\T #de+&TqT.

   e yX\eTT (Area of a circle)
	 +~ y rdT=qTeTT.
	 70 MT ykseTT >\ es b\eTTqT  eekjT<sT&T #<TqT #dqT. b\eTTqT 
#<TqT #jTT n n>T KsT m+?
	 1.5 MT ykseTT >\ es \ | u>eTTqT sT~, yT]dT #jTT n>T KsT 
m+?

KsTqT m qT>=qeqT?
	  KsT\qT qT>=qT, < qT>=qeqT?
	 yX\e  #TT=\?

yX\eTT, yX\eTT, yX\eTT.
	 neqT +|&T eTqeTT e u>| yX\eTTqT qT>=qeqT
	 +es  dssK\ @s&q uTeTT\T, #TsTeTT\T yTT<\>T y{  yX\eTTqT 
qT>=qT deTT\qT \TdT=HeTT. eeTT nqTq~ $T*q deT\ |eTT\ e~]> 
+& esK js>TqT.

e |]~ eTjT&q 
u>eTT eu>eTT n>TqT.



n<jTeTT 3

58

	 eq, eeTTqT dssK\ @s&q seTT> e], yX\eTTqT qT>=qT 
eTqeTT ys= = |< qT>=qe\djTTq~
	 #sTqT rdT= <|q  eeTTqT ^jTTeTT. eeTTqT ]+ $&> rdT=qTeTT. 
e u>eTT d> u>eTTq s+>T yjTTeTT. sTy |eTT 3.11 #|qT eeTTqT 8 
u>eTT\T> $u+, y{ $&$&> ]+ rdT=qTeTT

|eTT. 3.11
]+q u>eTT\qT +~ $<eTT> neTsTeTT.

|eTT. 3.12
	 |&T eq seTT @~? 
	  m$T~ eTT\T  de+s #TsTeTT e~]> sb+<qT. 
	 <$<eTT> e u>eTTqT 64 u>eTT\T> $u+, ]+ neT]q  Bs #TsdeTT 
sb+<T #&e#TqT. (|eTT 3.13 #&TeTT)

|eTT. 3.13

	   Bs #TsdeTT y&\T m+?

e ykseTT Bs #Tsd y&\T n>TqT..

nq>,                  y&\T   b = r					    ..... (1)

	  Bs #Tsd b&e m+?
 	 yTTeTT e u>eTTqT 64 u>eTT\T> $u+q+<T e\q Bs #TsdeTT jTT 
= b&e 32 u>eTT\qT *jTT+&TqT. eq Bs #TsdeTT jTT b&e 32 u>eTT\ 
b&e n>TqT.  32 u>eTT\ b&e e|]~ d>eTT n>TqT.
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	 `  b&e l  	 =	
2
1 [eeTT jTT #T=\]

		  =	 r
2
1 2r6 @ = rr

	 l` 	 =	 rr 				    ..... (2)
              	e yX\eTT = Bs #Tsd yX\eTT (|eTT 3.13 qT+) 
		  =	 l b#

		  =	 ( )r r#r 		  ( (1) (2) qT+)

		  =	 r2r  #.|eDeTT\T.

	 `  e yX\eTT	 =	 r2r  #.|eDeTT\T

<VsD 3.13
	 14 d+.MT. ydeTT> >\ e yX\eTTqT qT>=qTeTT.

k<q :

	 ydeTT  d	 =	 14 d+.MT

eq,	 ykseTT r 	 =	 d
2

 = 
2
14  = 7 d+.MT

	  e yX\eTT	 =	 r2r

		  =	
7
22 7 7# #

		  =	 154  #.d+.MT.

	 `   e yX\eTT	 =	 154  #.d+.MT.

<VsD 3.14
	  es b\eTT eT<  yT 3.5 MT b&e >\ <seTT &q~.  yT 
yTjTT d\eTT yX\eTTqT qT>=qTeTT

k<q :

              	eeTT jTT ykseTT = <seTT b&e

	                            `  ykseTT  r  = 3.5 MT = 
2
7  MT

       yT yTjTT d\eTT yX\eTT = r2r   #.|eDeTT\T

		           = 7
7
22

2
7

2
# #  

		           = 
2
77  = 38.5 #.MT

   ` yT yTjTT d\eTT yX\eTT = 38.5 #.MT.

|eTT 3.14
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<VsD 3.15

es <qeqeTT #TT=\ 176 MT. <qeqeTT yX\eTTqT qT>=qTeTT.
k<q :

	 #TT=\	 =	 176 MT.   (e&q~)
	 r2r 	 =	 176
	 r2

7
22

# # 	 =	 176
	 r 	 =	

44
176 7#

	 `  r	 =	 28 MT.

	 <qeqeTT yX\eTT	 =	 r2r

		  =	 2 2
7
22 8 8# #

		  =	 22 24 8# #

		  =	 2464 #.MT.

<VsD 3.16
	  y+& r>qT #TsdeTT> e+q, < $T+#&T d\eTT yX\eTT                          
121 #.d+.MT. n< y+& r> eeTT> e+#&q~. e yX\eTTqT qT>=qTeTT.

k<q :
#Tsd uTeTTqT a nqT=qTeTT.	
           #Tsd yX\eTT = 121 #.d+.MT. (e&q~)

	 a2	 =	 121 & a  = 11 d+.MT.	 (11#11 = 121)

	#TsdeTT jTT #TT=\	=	 a4  |eDeTT\T
		  =	 4 11#   d+.MT.
		  =	 44  d+.MT.
                 	          r> b&e = #TsdeTT jTT #TT=\ 
		  =	 44  d+.MT.
r> eeTT> e+#&q~.
    eeTT jTT #TT=\ = r> b&e
         	̀   e #TT=\  = 44  d+.MT.
	 r2r 	 =	 44
	 r2

7
22` # # 	 =	 44

	 r 	 =	
44

44 7#

	 r	 =	 7 d+.MT.



=\\T

61

	 `   e yX\eTT	 =	 r2r  
		  =	

7
22  × 7  d+.MT. × 7  d+.MT.

	  e yX\eTT	 =	 154  d+.MT.2

<VsD 3.17
	 qT es +{d\eTTqT |~ksT ]e#qT. nqT ]q <seTT 352 MT n 
+#&q~. +{d\eTT yX\eTTqT qT>=qTeTT.

k<q :
	                    10 ksT ]q <seTT = 352 MT.
	                       1 k] ]q <seTT = 

10
352  MT = 35.2 MT

      es +{d\eTT #TT=\ = k] ]q <seTT
`   #TT=\ = 35.2 MT

r2r  =  35.2
 	                          r2

7
22

# #  = 35.2

	                                                     r  = .
44

35 2 7#

		               = .0 8 7#

		               = 5.6 MT
	                     	es +{d\eTT yX\eTT = r2r

		               = . .
7
22 5 6 5 6# #

		               = 22#0.8#5.6
		               = 98.56 MT2

	                 `  es +{d\eTT yX\eTT = 98.56 #.MT

<VsD 3.18
b&e 37 d+.MT., y&\T 29 d+.MT. >\ Bs #Tsks MT eseTT> 

es&q~. e ykseTT eT]jTT yX\eTTqT qT>=qTeTT.
k<q :
                	         MT b&e = Bs #TsdeTT jTT #TT=\ 
		  =	 2 [b&e G y&\T]
		  =	 2 [37 d+.MT. + 29 d+.MT.] = 2 #  66 d+.MT.
		  =	 132 d+.MT.
 MT eeTT> es&q~ eq,
	                                e #TT=\ = MT b&e
	 `   e #TT=\ 	=	 132
	 r2r 	 =	 132
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	 r2
7
22

# # 	 =	 132
	 r 	 =	

44
132 7#  = 21

                    `  e ykseTT = 21 d+.MT.
	 e yX\eTT	 =	 r2r

		  =	
7
22 21 21# #  = 22 3 21# #

                     	̀  e yX\eTT = 1386 #.d+.MT.
nudeTT 3.3

	 1.	 +~ =\\qT ydeTT\T> >\ eeTT\ yX\eTT\qT qT>=qTeTT:
		  (i) 7 d+.MT.	 (ii) 10.5 d+.MT.	 (iii) 4.9 MT.	 (iv) 6.3MT(

7
22r = > rdT=qTeTT)

	 2.	 +~ =\\qT ykseTT\T> >\ eeTT\ yX\eTT\qT qT>=qTeTT:
		  (i) 1.2 d+.MT.	 (ii) 14 d+.MT.	 (iii) 4.2 MT	 (iv) 5.6 MT(

7
22r = > rdT=qTeT)

	 3.	 es +{ d\eTT jTT ydeTT 28 MT. +{ d\eTTqT #<TqT #jTT  
#<s| MTsT s. 3 KsT nsTTq KsT yTTeTTqT qT>=qTeTT.

	 4.	  es b\eTT eT<  yT 7 MT. b&e >\ <seTT {&q~.  yT 
yTjTT d\eTT yX\eTTqT qT>=qTeTT.

	 5.	  eeTT,  #TsdeTT 88 MT.qT #TT=\\T> *jTTq$. @~ n~ 
yX\eTTqT *jTTq~?

	 6.	  #eTT 100 ueTDeTT\ 2200 MT <seTT yqT. #eTT jTT yX\eTTqT 
qT>=qTeTT.

	 7.	  MT 28 d+.MT. ykseTT eseTT> eq~. MT e+ #TsdeTT> 
es&q~. #TsdeTT jTT #TT=\ e |]~ deqeTT nsTTq #TsdeTT 
jTT yX\eTTqT qT>=qTeTT.

	 8.	 es +{ d\eTT jTT yX\eTT 3850 #.MT. +{ d\eTT jTT ykseTTqT 
qT>=qTeTT. +{ d\eTT +# yjTT MTsT s.10 #=|q KsT n>TqT. 
KsT yTTeTTqT qT>=qTeTT.

3.3	 u yX\eTT (Area of the path way)
eTq  J$eTT eTqeTT <qeqeTT, d\eTT, =\qT #T q& 

yT+{eTT.
<qeqeTT e+& uqT MTsT ^jT>\s?
 $<yTq u\ yX\eTT\qT qT>= q+~+ eHs?
Bs #Tsks| =\qT #T e+& u b{ |yT b{ #T e+& 

u>eTTq, d++<eTT e+<?
 $<yTq <VsDeTT\qT MTsT +#>\s?
 u>eTT	 •  Bs #Tsks| u yX\eTT

	 	 • es u yX\eTTqT qT>=qT deTT\qT HsT=H<eTT.
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Bs #Tsks| u yX\eTT (Area of rectangular pathway)

(n) Bs #TsdeTTq uVeTTq eq  syTq u yX\eTT 
	 (Area of uniform pathway outside the rectangle)

 Bs #Tsks| ueqeTTqT rdT=qTeTT. 
ueqeTT #T  syTq |P\u yjT&q~. |P\
u yX\eTTqT qT>=qT m?

 	  syTq |P\uqT, ueqeTTqT *|q ys= 
Bs #TsdeTT e#TqT. B y\T|* Bs #TsdeTT 
n n+<TsT. ueqeTTqT |* Bs #TsdeTT n 
n+<TsT

ueqeTT b&e, y&\T\T eTeTT>  l , b 
nqT=qTeTT.

` |* Bs #Tsd yX\eTT  = l b #.|eDeTT\T

u y&\T w nqT=qTeTT.

 y\T|* Bs #TsdeTT b&e, y&\T m+?
y\T|* Bs #Tsd b&e (L)	 =	 w l w+ +  = l w2+^ h |eDeTT\T

 y\T|* Bs #Tsd y&\T (B)	 =	 w b w+ +  = b w2+^ h |eDeTT\T

`  y\T|* Bs #Tsd yX\eTT	 =	 L #  B 

	 =	 l w b w2 2+ +^ ^h h #.|eDeTT\T

		  |&T, |P\u yX\eTT m+?

KeTT>, |P\u yX\eTT nqTq~ s+&T Bs #TsdeTT\ eT< eq u d\eTT.

	̀  |P\u yX\eTT = (ueqeTT, |P\u\ yX\eTT) - ueqeTT yX\eTT.
k<sDeTT>,
u yX\eTT = (uV Bs #Tsd yX\eTT) - (n+s Bs #Tsd yX\eTT)
nq>, u yX\eTT = (l + 2w) (b + 2w) – lb.

<VsD 3.19
	 y\T|* Bs #Tsd yX\eTT 360 #.MT. |* Bs #Tsd yX\eTT 280 #.MT.  
syTq u  s+&T Bs #TsdeTT\ eT< eq~. u yX\eTT m+?

k<q :

	u yX\eTT R (y\T|* Bs #Tsd yX\eTT) - |* Bs #Tsd yX\eTT)

|eTT. 3.15

|eTT. 3.16
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		  =	 (360 – 280) MT2   =	 80 MT2
	 `  u yX\eTT	 =	 80 MT2

<VsD 3.20
	  Bs #Tsks ueqeTT b&e 20 MT, y&\T 10 MT. ueqeTTq y\T|\ 1 MT 
y&\T eq u yjT&q~. u yX\eTTqT qT>=qTeTT.

k<q :
|* Bs #TsdeTT (e&q~)          y\T|* Bs #TsdeTT
        l  = 20 MT
	 b  = 10 MT
	 yX\eTT = l × b
	 yX\eTT = 20 MT × 10 MT
		     = 200 MT2

  y&\T, w   = 1 MT
	     L 	 = l + 2w
		  = 20 + 2 = 22 MT
	     B	 = b + 2w
		  = 10 + 2 = 12 MT
     yX\eTT = (l + 2w) (b + 2w)
     yX\eTT = 22 MT #   12 MT
		  = 264 MT2

	u yX\eTT R ( y\T|* Bs #Tsd yX\eTT) - (|* Bs #Tsd yX\eTT)
		  =	 ( 264 – 200 ) MT2 = 64 MT2

	 `  u yX\eTT	 = 64 MT2

<VsD 3.21
 bsX\ &{]jT+ b&e 45MT, 

y&\T 27MT &{]jT+ y\T|\ #T 3MT                             
y&\T es+& eq~. es+& yX\eTT m+? 
es+& _\T(tiles) n+{+#T  #<Ts MTsT 
s. 100 nsTTq KsT yTTeTTqT qT>=qTeTT.

k<q :
|* Bs #TsdeTT (e&q~)        y\T|* Bs #TsdeTT

          l  = 45 MT
         b  = 27 MT
 yX\eTT = 45MT #  27 MT
	      = 1215 MT2

  y&\T,    w 	= 3 MT
	       L	 = l w2+

	       	 = 45 + 6 = 51 MT
	       B	 = b w2+

		  = 27 + 6 = 33 MT
     yX\eTT = 51MT #  33 MT
		  = 1683 MT2

|eTT. 3.17
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(i)	es+& yX\eTT R (y\T|* Bs #Tsd yX\eTT) - (|* Bs #Tsd yX\eTT)
		  =	 (1683 – 1215)  MT2

		  =	 468  MT2

	 `  es+& yX\eTT	 =	 468  MT2 () 468 #.MT.
(ii)	 _\T n+{+#T 1 #.MT. n>T KsT	 =	`100
	 _\T n+{+#T 468 #.MT. n>T KsT	 =	`100 #  468
		  =	`46,800
	`es+& _\T n+{+#T n>T KsT	 =	`46,800

() Bs #TsdeTTq |\  syTq u yX\eTT (Area of uniform pathway 
inside a rectangle)

Bs #Tsks| d\eTT eT<  
=\qT eq~. =\qT #T dyT+{ 
yjTT  syTq y&\T >\ u eq~.

 =\qT y\T|\ eq u dyT+{ 
yjT&q KsT yTTeTTqT m qT>=qeqT

u yX\eTT, dyT+T yjTT  
#<Ts MTsT n>T KsT *dq, dyT+T 
yjTT n>T yTTeTT KsTqT qT>=qe#TqT.

	& Bs #Tsks d\eTT y\T|* Bs #TsdeT>TqT. B b&e l ,  y&\T b

`  d\eTT  yX\eTT (y\T|* Bs #TsdeTT) = l b  #.|eDeTT\T
w  nqTq~ u y&\T nsTTq =\qT b&e, y&\T m+?
	 =\qT b&e	 =	 l w w- - 	
		  =	 l w2-

	 =\qT y&\T	 =	 b w w- -

		     =	   b w2-

`  =\qT yX\eTT (|* Bs #TsdeTT) = l w b w2 2- -^ ^h h #.|eDeTT\T
	dyT+{ yjT&q d\eTT yX\eTT = d\eTT yX\eTT - =\qT yX\eTT.

k<sDeTT>,

	u yX\eTT R (y\T|* Bs #Tsd yX\eTT) - (|* Bs #Tsd yX\eTT)

		  =	 lb – (l – 2w) (b – 2w)

|eTT. 3.18
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<VsD 3.22

8 MT. b&e, 5 MT y&\T >\ >~ |\ msT| 
s+>T ussT 0.5 MT y&\T yjT&q~. msT| s+>T 
ussT yX\eTTqT qT>=qTeTT.

k<q :

y\T|* Bs #TsdeTT(e&q~)          |* Bs #TsdeTT
           l  = 8 MT
               b = 5 MT
  yX\eTT = 8MT #  5 MT
	        = 40 MT2

    y&\T, w 	 = 0.5 MT
	     L	 = l w2-

		  = (8 – 1) MT	 = 7 MT
	     B	 = b w2-

		  = (5 – 1) MT	 = 4 MT
     yX\eTT = 7MT × 4 MT
		  = 28 MT2

	 u yX\eTT = (y\T|* Bs #Tsd yX\eTT) - (|* Bs #Tsd yX\eTT)
                        = 	(40 – 28)MT2  = 12 MT2

	̀  msT| s+>T ussT yX\eTT = 12 MT2

<VsD 3.23
 s{ =\\T 3 MT. I 2 MT. n uTeTT\qT 0.25 MT y&\T >\ s{qT 

]+ydq, $T*q s{ yX\eTTqT qT>=qTeTT. eT]jTT ]+#dq s{ yX\eTTqT 
qT>=qTeTT.

k<q :
      y\T|* Bs #TsdeTT
(]+#T eTT+<T eq s{) 

              |* Bs #TsdeTT
(]+q sTy $T*q s{)

          l  = 3 MT
         b  = 2 MT
 yX\eTT = 3MT #  2MT
	      = 6 MT2

  y&\T, w 	 = 0.25 MT

              L	 = l w2-  = (3 – 0.5) MT
		  = 2.5 m

	    B	 = b w2-  = (2 – 0.5) MT

		  = 1.5 MT

     yX\eTT  = 2.5MT #  1.5MT

		  = 3.75 MT2

 ]+q sTy $T* eq s{ yX\eTT = 3.75 MT2

|eTT. 3.19
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	]+q s{ yX\eTT R (s{ yX\eTT) - 
              (]+q sTy $T*eq s{ yX\eTT)

		            = (6 – 3.75) MT2

		            = 2.25 MT2

	̀   ]+q s{ yX\eTT = 2.25 MT2

>eT:|* Bs #Tsd b&e, y&\T e&q,      
y\T|* Bs #Tsd b&e, y&\T\T eTeTT> 2l w+ , 2b w+  
n>TqT. +<Tw nqTq~ u y&\T

y\T|* Bs #Tsd b&e, y&\T e&q, |* Bs 
#Tsd b&e, y&\T\T eTeTT> 2l w- , 2b w-  n>TqT 

nudeTT 3.4
	 1.	 60 MT I 40 MT >\ d\eTT n y|\ 3 MT y&\T |+#&q~. |+#&q d\eTT 

yX\eTTqT qT>=qTeTT.
	 2.	 Bs #TskseTT eq  bsX\  d\eTT b&e 80 MT, y&\T 60 MT. < 

#T 2 MT y&\T dyT+{ u yjT&q~. dyT+{ yjTT  #<s| MTsT 
s. 20 nsTTq, KsT yTTeTTqT qT>=qTeTT

	 3.	 Bs #Tsks|  =\\T 30 MT I 20 MT.  #T 1.5 MT y&\T u 
yjTT  #<s| MTsT s. 10 nsTTq KsT yTTeTTqT qT>=qTeTT.

	 4.	 50 d+.MT b&e, 30 d+.MT. y&\T >\  #sT ueT { ^jT&q~. #sT 
n+#T n y|\ 2.5 d+.MT. y&\T e<*yjT&q~. n+#T e<*yjT&q 
u>eTT yX\eTTqT qT>=qTeTT.

	 5.	 Bs #Tsks| >~ b&e 10 MT, y&\T 7 MT. >& qT+ n y|\ 1 MT y&\T 
e~d eT< s{ yjT&q~. s{ yX\eTTqT qT>=qTeTT. eT]jTT s{ 
eTdyjT& d\eTT yX\eTTqT qT>=qTeTT.

	 6.	  b{ |yT y\T|* b&e, y&\T\T eTeTT> 80 d+.MT., 50 d+.MT. b{ #T 
eq |yT 3 d+.MT. y&\T eq~. b{ q&T u>eTT yX\eTTqT qT>=qTeTT.

es u (Circular pathway)
@ +BjT eeTT\T (Concentric circles)

 deT\eTT  _+<TeqT @ +<eTT> rdT= yssT 
ykseTT\ ^jT&q eeTT\T @ +BjT eeTT\T nq&TqT.
es u

 es <qeqeTT q&#T M\T>  y&\T >\ u 
{ yjT&jTT+&TqT.

 u yX\eTTqT MTsT qT>=qT M\>TH? 

|eTT. 3.20
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 M\>TqT, s+&T @ +BjT eeTT\ eT< e+& yX\eTT u 
yX\eT>TqT. |eTT 3.22 O nqTq~ s+&T eeTT\ @ +<eTT 
n>TqT. uV e ykseTT R, n+s e ykseTT r nqT=qTeTT.
	 s+>T yjT&q u>eTTqT esTs e\jTeTT  es u 
n+<TsT. nq> s+&T @ +BjT eeTT\ eT< eq u>eTT e 
u n>TqT.

       eu y&\T,	 w 	 =	 R – r  |eDeTT\T
	 n+f, w	 =	 R – r &R	 =	w r+  |eDeTT\T
				    r 	 =	R – w |eDeTT\T.

                         	eu yX\eTT = (uV e yX\eTT) - (n+s e yX\eTT)
		    = rR2 2r r-  
		    = R r2 2r -^ h #.|eDeTT\T

		                   `   eu yX\eTT = R r2 2r -^ h #.|eDeTT\T
	                                                     = R r R rr + -^ ^h h #.|eDeTT\T

<VsD 3.24
|q eq |eTT s+&T @ +BjT eeTT\qT #|#Tq~. 

uVe ykseTT 14 d+.MT., n+s e ykseTT 7 d+.MT.
(i)	 uV e yX\eTTqT qT>=qTeTT.
(ii)	 n+s e yX\eTTqT qT>=qTeTT.
(iii)	 s+&T eeTT\ eT< s+>T yjT&q u>eTT yX\eTTqT 

qT>=qTeTT.
k<q :

i) uV eeTT	 ii)  n+s eeTT
	 R	 =	 14	 r 	 =	 7
	 yX\eTT	 =	 R2r 	 yX\eTT	 =	 r2r

		  =	
7
22 14 14# # 		  =	

7
22 7 7# #

		  =	 22 #  28		  =	 22 #  7
		  =	 616  d+.MT2	 	 =	 154  d+.MT2

iii)  #jTyjT&q u>eTT yX\eTT
		  =	 (uV e yX\eTT) - (n+s e yX\eTT)
		  =	 (616 – 154)  d+.MT2

		  =	 462  d+.MT2

|eTT. 3.22

|eTT. 3.23
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<VsD 3.25
	 5 d+.MT.ykseTT >\ es eTT qT+&,3d+.MT.ykseTT eq @ +BjT 

eeTTqT ]+ myjTTeTT. $T*q | yX\eTTqT qT>=qTeTT. 
( .3 14r = > rdT=qTeTT)
k<q :
R = 5 d+.MT, r = 3 d+.MT n e&q~.
	 $T*q | yX\eTT	 =	 R r2 2r -^ h

		  =	 3.14 (52 – 32)
		  =	 3.14 (25 – 9)
		  =	 3.14 × 16
		  =	 50.24 d+.MT2

eT]jTT |< :
uV eeTT n+s eeTT

    R	 = 5 d+.MT
 yX\eTT= R2r  #.|eDeTT\T
	 = .3 14 5 5# #

	 = 3.14 #  25
	 = 78.5 d+.MT2

      r	 = 3 d+.MT
   yX\eTT= r2r  #.|eDeTT\T
	 = .3 14 3 3# #

	 = 3.14 #  9
	 = 28.26 d+.MT2

	$T*q | yX\eTT R (uV e yX\eTT) - (n+s e yX\eTT)
		  =	 (78.5 – 28.26) d+.MT2
		  =	50.24 d+.MT2
	 `  $T*q | yX\eTT	 =	50.24 d+.MT2

<VsD 3.26
es |P\ yX\eTT 500 #.d+.MT. ykseTT 12 MT. >\ e u>eTTq 

eeTT sT #\TqT  |]seTTqT  eT< e+#&q~.  yTTeTTq |]seTT 
 #\TH? (r  = 3.14 n rdT=qTeTT)

k<q :
 |P\ yX\eTT = 	500 MT2 n e&q~
	|]seTT  #\T u>eTT yX\eTT	= r2r

		  =	 .3 14 12 12# #

		  =	 3.14 #  144
		  =	 452 .16 MT2

 |P\ yX\eTT +f  #\&T u>eTT yX\eTT e> eq+<Te\q 
|]seTT  yTTeTTq  #\<T.

|eTT. 3.24
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<VsD 3.27

50 MT ykseTT> >\ es <qeqeTT y\T|* u>eTT 2 MT. y&\T 
es u yjT&q~. uqT #<TqT #jTT  #<s| MTsT s. 5 #=|q KsT 
nsTTq KsT yTTeTTqT qT>=qTeTT. (r  = 3.14 n rdT=qTeTT)

k<q :

r  = 50 MT,  w = 2 MT,  R = r w+  = 50 + 2 = 52 MT n e&q~

es u yX\eTT	 =	 R r R rr + -^ ^h h

		  =	 .3 14 52 50 52 50# + -^ ^h h

		  =	 .3 14 102 2# #

		  =	 3.14 204#

		  =	 640.56 MT2

	        1 #<s| MTsT uqT #<TqT #jTT n>T KsT = `5

	640.56 #<s| MTs uqT #<TqT #jTT n>T KsT = `5 #  640.56

		       = `3202.80

               `  es uqT #<TqT #jTT n>T KsT  = `3202.80

nudeTT 4.10
	 1.	 dsdt >T&seTT ykseTT 50 MT. +<eTT qT+& 20 MT. ykseTT sT\T 

seTeTT\qT |<]+#T  ee\jTeTT {sTT+#&q~. |\ 
{sTT+#&q d\eTT yX\eTTqT qT>=qTeTT.(r  = 3.14> rdT=qTeTT)

	 2.	 30 MT. ykseTT> >\ es b\eTT |\ 3 MT. y&\T es u 
yjT&q~. es u yX\eTTqT qT>=qTeTT(r  = 3.14> rdT=qTeTT)

	 3.	 ee\jT VeTT jTT n+s e ykseTT 7 d+.MT., uV e ykseTT 
10.5 d+.MT.  #<s| MTsT VeTTq s. 5 #=|q KsT nsTTq, 25                        
e\jTeTT\qT #jTT>T KsTqT qT>=qTeTT.

	 4.	 3 MT. ykseTT >\ es u$ #T 1.5 MT y&\T >\  yjT&q~.   
yX\eTTqT qT>=qTeTT. (r  = 3.14 > rdT=qTeTT)

	 5.	 56 MT. ykseTT >\ es <qeqeTT #T 2.5 MT. y&\T >\ es u 
yjT&q~. uqT #<TqT #jTT  #<s| MTsT s. 5 KsT nsTTq KsT 
yTTeTTqT qT>=qTeTT.    (r  = 3.14> rdT=qTeTT)

|eTT. 3.25
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|eTT         yX\eTT deTT\T 

2
1  × mT I de+s 
uTeTT\ yTTeTT

2
1  × h × (a + b) 
#.|eDeTT\T

e #TT=\ =

  2 × r  × ykseTT
2rr  |eDeTT\T

e yX\eTT  = 
r  × ykseTT × ykseTT

rr2 #.|eDeTT\T

u yX\eTT

i)  Bs #Tsks u 
yX\eTT

uV Bs #Tsd 
yX\eTT – n+s Bs 

#Tsd yX\eTT

ii) es u yX\eTT

uV e yX\eTT – 
n+s e yX\eTT 

= r  (R2 – r2) 
#.|eDeTT\T 

= r  (R + r) (R – r) 
#.|eDeTT\T

Bs #TsdeTT
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4.1 uTeTT: |q:|]o\qeTT (Triangle: Revision)

uTeTT nqTq~ eT&T sU K+&eTT\# eTdq deT\ 
seT>TqT.

|eTT 4.1 AB, BC eT]jTT CA nqT sU K+&eTT\T 
eTdq seTTqT @ssjTTq$. ~ uTeTT n>TqT. <                         
DABC n >T]+#e#TqT.  uTeTTqT  DABC  DBCA  
DCAB n |sT |e#TqT. 

uTeTTqT @ssq sUK+&eTT\T, uTeTT jTT eT&T uTeTT\>TqT. |eTT 
4.1 AB , BC eT]jTT CA nqTq$ uTeTT jTT eT&T uTeTT\T n>TqT.

uTeTT jTT eT&T sUK+&eTT\ @y s+&T sU K+&eTT\T K+&+#T _+<TeqT 
uTeTT jTT oseTT n+<TeTT. |eTT 4.1 A, B eT]jTT C nqTq$ uTeTT jTT 
eT&T oseTT\T n>TqT.

s+&T sU K+&eTT\T K+&+#Tq|&T  _+<Te e< DeTT @s&TqT. |eTT       
4.1  AB eT]jTT BC \T B e< K+&+#TqT eT]jTT DeTTqT oseTT @ss#T#Tq~.                 
 DeTTqT eTqeTT DeTT B  +B  +ABC n #<Tee#TqT. { uTeTqTq~      
+A, +B, +C nqT eT&T DeTT\qT *jTTq~. 

|eTT 4.1  DABC 

uTeTT\T	 :	 AB,BC,CA

DeTT\T	 :	 +CAB, +ABC,+BCA

oseTT\T	 :	 A, B, C

oseTT\T A, B, C jTT m<T{ uTeTT\T eTeTT> BC, AC, AB n>TqT. uTeTT\T  
BC, AC, AB \ jTT m<TqTq DeTT\T eTeTT> +A, +B, +C n>TqT.

uTeTT nqTq~ eT&T sU K+&eTT\# eTdq deT\ seT>TqT. ~ eT&T 
oseTT\qT, eT&T uTeTT\qT, eT&T DeTT\qT *jTTq~.

|eTT 4.1

>DeTT
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7 d+.MT, 5 d+.MT, 13 
d+.MT >\ =\\T  
uTeTTqT @ssT#TH?

4.2 uTeTT\ seTT\T (Types of Triangles)

uTeTT\ <seTT (Based on sides)

deTuVQ uTeTT uTeTT jTT n uTeTT\T deqeTT.

deT~uVQ uTeTT < s+&T uTeTT\T deqeTT. 

$weTuVQ uTeTT < n uTeTT\T deqeTT e. 

DeTT\ <seTT (Based on angles)

\+D uTeTT nq> uTeTT jTT  DeTT \+DeTT>qT $T*q s+&T 
DeTT\T n\ (\|TT) DeTT\T>qT +&TqT.

n~ D uTeTT nq> uTeTT jTT  DeTT n~ (>TsT) DeTT>qT $T*q 
s+&T DeTT\T n\ (\|TT) DeTT\T>qT +&TqT.

n\D uTeTT nq> uTeTT jTT eT&T DeTT\T n\(\|TT) DeTT\T> 
+&TqT.

 uTeTT jTT s+&T uTeTT\ b&e\T yTTeTT eT&e uTeTT +f n~eTT> +&TqT.

4.3	 uTeTT jTT D yTTeTT\ <seTT (Angle sum property of a triangle):

#d #&TeTT 1:

ABC nqT @<H  uTeTTqT  eTT 
^, DeTT\T 1, 2 eT]jTT 3 nqTq$ s+&T |\qT 
eTT |eTT 4.2 (i)  +&TqT >T]+#TeTT.

|eTT 4.2

ABC nqT uTeTTqT ]+#TeTT. A nqT oseTTqT BC nqT | |eTT           
4.2 (ii)  +&TqT eT&TeeTT. oseTT\T B eT]jTT C qT |eTT 4.2 (iii)  +&TqT 
eT&TeeTT.
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|&T MTsT +1, +2 eT]jTT +3 dssK +&TqT #&e#TqT. B qT+&
	 +1 + +2  + +3	 =	 180°
	 +A + +B + +  C	 =	 180°
nqTq~ \TdT=qe#TqT.  uTeTT jTT eT&T DeTT\ yTTeTT 1800 

n>TqT.
#d #&TeTT 2:
|eTT 4.3 (i)  +&TqT  uTeTT 

^jTTeTT. < eT&T DeTT\qT ]+ 
rdT=qTeTT. y{ |eTT 4.3 (ii) +&TqT 
neTsTeTT. |&T MTsT eT&T DeTT\qT #]  
DeTTqT @ssjTTq~ n \TdT=qe#TqT. 
 DeTT ds DeTT n>TqT. n+<Te\q < 
=\ 1800 n>TqT.  uTeTT jTT eT&T DeTT\ yTTeTT 1800 n>TqT.

+#TeTT:
1.  uTeTT s+&T DeTT\T 600  e> +&q uTeTT @ss#TH?

2.  uTeTT s+&T DeTT\T \+ DeTT> +&q uTeTT @ss#TH?

uTeTT jTT uVDeTT ̀  <seTT\T (Exterior angle of a triangle and its property)

#d #&TeTT 3:

|eTT 4.4

uTeTT ABC qT ^ <  |> |eTT 4.4 (i)  +&TqT b&+#TeTT. 
DeTT ACD, C nqT _+<Te e< @s&TqT #&e#TqT.

+BCA nqTq~ +ACD jTT dq DeTT n>TqT. uTeTT jTT $T*q 
s+&T DeTT\T +A eT]jTT +B \qT uTeTT jTT  m<T{ uT n+sDeTT\T n 
#|e#TqT. 

|&T +A eT]jTT +B qT ]+ ( n< $<eTT> ^) |eTT 4.4 (ii)  
#|jTTqT ||q +#TeTT.

MTsT  s+&T eTT\qT #] +ACD  |P]> |&q~ >eT+#e#TqT.

|eTT 4.3
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B qT+& uTeTT jTT uV DeTT < m<T{ s+&T n+sDeTT\  yTTeTTq 
deqeTT nqTq~ \TdT=qe#TqT.

uTeTT jTT uV DeTTqqT < s+&T n+s DeTT\qT eT<>\ 
d++<eTT uTeTT jTT uV DeTT jTT <seTT n>TqT.

ABC nqT uTeTTqT ^ |eTT 4.4 (i)  +&TqT uTeTT\ 
fq BC qT b&+#TeTT. +ACD, C nqT _+<Te e< @s&T#Tq~. 
|&T De rdT= +  ACD, +A eT]jTT +B \qT =\TeeTT. 
+  A + +  B qT qT>= +ACD qT =* < b* #&TeTT MTsT 
+ACD = +A + B nqTq~ \TdT=Hs?

<VsD 4.1
e&q |eTT qT+& x $\TeqT qT>=qTeTT.

k<q:
	+CAB + +ABC ++  BCA	 =	180° 	

	          40° + x + x	 =	180°	

	            40° + 2x	 =	180°

	 2x	 =	180° – 40°

	 2x	 =	140°

	 x	 =	 °
2

140  = 70°

	 `  x $\Te 	=	70°.

<VsD 4.2

uTeTT jTT s+&T DeTT\T 400 eT]jTT 600 nsTTq 

eT&e DeTTqT qT>=qTeTT.

k<q:

	+RPQ + +PQR ++QRP	 =	 180°	 (m+<Tq> uTeTT jTT eT&T

	 x + 40° + 60°	 =	 180°	 DeTT\ yTTeTT 1800)

	 x + 100°	 =	 180°

	 x	 =	 180° – 100°

		  =	 80°

	 `   eT&e DeTT  x	 =	 80°

(m+<Tq> uTeTT jTT 
eT&T DeTT\ yTTeTT 1800)
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<VsD 4.3
e&q |eTT qT+& +A  =\qT qT>=qTeTT.

k<q:

	  +CAB + +ABC + +BCA	=	 180°		  (m+<Tq> uTeTT jTT eT&T
	 2x + 120° + x	=	 180°		  DeTT\ yTTeTT 1800)
	 3x + 120°	=	 180°
	 3x	=	 180° – 120°
	 3x	=	 60°
	 x	=	 °

3
60

		 =	 20°
	 ` +A	=	 2x = 2 × 20° = 40°

<VsD 4.4
e&q |eTT qT+&  x $\TeqT qT>=qTeTT.

k<q:
|eTT uV DeTT  = +ABD = 110°.

     s+&T m<T{ n+s DeTT\ yTTeTT = +BCA + +  CAB
		                                   =  x + 50°

	 x + 50°	 =	 110°	 (m+<Tq> s+&T m<T{ n+s DeTT\  

	 x	 =	 110° – 50°	 yTTeTT uV DeTTq deqeTT)
		  =	 60°
    `  x  $\Te = 60°.

<VsD 4.5
e&q |eTT qT+& x, y $\Te\qT qT>=qTeTT.

k<q:
e&q |eTT , 

	 uV DeTT	 =	 +  DCA = 130°

	 50° + x	 =	 130°	 (m+<Tq>  uTeTT jTT uV

	 x	 =	 130° – 50°	     DeTT < m<T{ s+&T n+s

		  =	 80°		        DeTT\ yTTeTTq deqeTT)
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DABC ,

	 +A + +B + +C	 =	 180° 	 (m+<Tq> uTeTT jTT eT&T DeTT\ 

	 50° + x + y	 =	 180° 	  yTTeTT 1800)
	 50° + 80° + y	 =	 180°
	 130° + y	 =	 180°
	 y	 =	 180° – 130°
		  =	 50°

`  x  $\Te 80°, y  $\Te 50°.

eTs= |<:
	+ACB + +  DCA	 =	 180°		  (m+<Tq>  sK| @s&T dq DeTT\ 

	 y + 130°	 =	 180°   	  yTTeTT 1800)
	 y	 =	 180° – 130°

		  =	 50°

D  ABC ,

	+A + +B + +  C	 =	 180°		  (m+<Tq> uTeTT jTT eT&T DeTT\ 

	 50° + x + y	 =	 180°		   yTTeTT 1800)

	 50° + x + 50°	 =	 180°

	 100° + x	 =	 180°

	 x	 =	 180° – 100°

		  =	 80°

<VsD 4.6
uTeTT jTT  eT&T DeTT\T 3x + 5°, x + 20°, x + 25°. nsTTq = DeTT  

=\qT qT>=qTeTT.

k<q:
	uTeTT jTT eT&T DeTT\ yTTeTT	 =	 180°

	 3x + 5° + x + 20° + x + 25°	 =	 180°

	 5x + 50°	 =	 180°
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	 5x	 =	 180° – 50°

	 5x	 =	 130°

	 x	 =	 °
5

130

		  =	 26°

	 3x + 5°	 =	 (3 × 26°) + 5° = 78° + 5° = 83°

	 x + 20°	 =	 26° + 20° = 46°

	 x + 25°	 =	 26° + 25° = 51°

`  uTeTT jTT eT&T DeTT\ =\\T 83°, 46° eT]jTT 51°.

nudeTT 4.1

	 1.	 dsq yTqT mqT=qTeTT.
	 i)	  uTeTT jTT eT&T DeTT\ yTTeTT
	 (n)) 90°	 () 180°	 () 270°	 () 360°

	 ii)	  uTeTT eT&T DeTT\T deqeTT nsTTq = DeTT =\.
	 (n) 300 	 () 450 	 () 600 	 () 900

	 iii)	 +< e&q y{ @~ uTeTT jTT DeTT\T> +&T M\>TqT.
	 (n) , ,50 30 105

0 0 0 	 () , ,36 44 90
0 0 0 	 () , ,70 30 80

0 0 0 	 () ,45 45 80
0 0 0

	 iv)	 uTeTT jTT s+&T DeTT\T 40° eT]jTT 60° nsTTq eT&e DeTT
	 (n) 200 	 () 400 	 () 600 	 () 800

	 v)	 TABC  BC qT D es b&+#TeTT +ABC = 500 , +ACD = 1050 nsTTq           
+  BAC jTT =\ 

	 (n) 75°	 () 15°

	 () 40°	 () 55°

	 2.	 +< e&q y{ @$ uTeTT\T n #|eTT.

		  (i) +A = 250 	 +B = 350 	 +C = 1200

		  (ii) +P = 900 	 +Q = 300 	 +  R = 500

		  (iii) +X = 400 	 +Y = 700 	 +  Z = 800

	 3.	 uTeTT s+&T DeTT\T e&jTTq$. eT&e DeTTqT qT>=qTeTT.

		  (i) ,75 45
0 0 	 (ii) ,80 30

0 0 	 (iii) ,40 90
0 0 	 (iv) ,45 85

0 0
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	 1.	  uTeTT jTT eT&T DeTT\ yTTeTT 1800 n>TqT.
	 2.	  uTeTT jTT uV DeTT < m<T{ uT s+&T n+s DeTT\ yTTeTTq 

deqeTT.

	 4.	 +< e&q |eTT\ qT+& x $\TeqT qT>=qTeTT.

	 5.	 +< e&q |eTT\ qT+& x eT]jTT y $\TeqT qT>=qTeTT.

	 6.	 uTeTT jTT eT&T DeTT\T x + 5°, x + 10° eT]jTT x + 15° nsTTq x $\TeqT 
qT>=qTeTT.



n<jTeTT 5

80

   5.1  uTeTT\qT ]+#T: (Construction of triangles)
uTeTT\T eT]jTT DeTT\ <seTT> neT]q uTeTT\ eZsDqT eTqeTT eTT+<T 

s>T\ *d=jTTHeTT. |&T uTeTT\ eZsDqT eT]jTT y{ <seTT\qT          
|q:|]o\q #jTT<TeTT. 
uTeTT\ eZsD: (Classification of triangles)


uT

e
TT\

 e
Z

sD
uT

e
TT\

 
<

se
TT>



e.d+ uTeTT |sT |eTT >eT

1 deTuVQ uTeTT eT&T uTeTT\T 
deqeTT

2 deT~uVQ uTeTT @y s+&T uTeTT\T 
deqeTT

3 $weT uVQ uTeTT uTeTT\T deqeTT e


De

TT\
 

<
se

TT>


4 \|TTD uTeTT eT&T DeTT\T \|TT 
DeTT\T (90°  e) 

5 >TsTD uTeTT @<q  DeTT >TsT 
DeTT (90° q me)

6 \+ D uTeTT @<H  DeTT \+ 
DeTT (90°)

|j> sU>DeTT
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uTeTT\ = <seTT\T: (Some properties of triangle)
	1.	  uTeTT jTT @y s+&T uTeTT\ yTTeTT eT&e uTeTT +f me> 

e+&TqT. 
	2.	  uTeTT jTT eT&T DeTT\ yTTeTT 180°.
uTeTTqT ]+#+<T e\dq eT&T =\\ deTT  uTeTT jTT 

=\qT KeTT> eeqT. e&q =\ +< |s=qT uTeTT\qT ]+#<eTT.
	 (i)	 eT&T uTeTT\T (SSS).
	 (ii)	 s+&T uTeTT\T eT]jTT y{ eT< e+&T DeTT (SAS).
	 (iii)	 s+&T DeTT\T eT]jTT y{ eT< e+&T uTeTT (ASA).

(i) eT&T uTeTT\qT q|&T uTeTTqT ]+#T: (SSS jTeTeTT)
<VsD 5.1
e&q AB = 4 d+.MT, BC = 6 d+.MT eT]jTT AC = 5 d+.MT =\\ uTeTT 
ABC qT ]+#T.

k<q
e&q =\\T
	 AB = 4 d+.MT

	 BC = 6 d+.MT

	 AC = 5 d+.MT

T |eTT

sD eTeTT: (Steps for construction)
yTT 1	 :	 BC = 6 d+.MT =\ >\ sUK+&eTTqT ^jTTeTT.
yTT 2	 : 	 ‘B’ qT +<eTT> rdT= 4 d+.MT ykseTT BC  |q  #|eTTqT 

^jTTeTT.
yTT 3	 :	 ‘C’ qT +<eTT> rdT= 5 d+.MT ykseTTq #|eTT, eTT+<T 

#|eTTqT ‘A’ e< K+&+#TqT  ^jTTeTT.
yTT 4	 :	 AB eT]jTT AC \qT \T|eTT.
		  ABC nqTq~ e\dq uTeTT n>TqT.
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De |j+ uTeTT jTT n DeTT\qT =*, y{ 
yTTeTTqT qT>=qTeTT. 

	 1.	  $<] PQ = 2 d+.MT, QR = 6 d+.MT eT]jTT                 
PR = 3 d+.MT n e&q =\\  uTeTT 
]+#T |jT+#qT. (T |eTT +&TqT) yTT< 
nqT QR = 6 d+.MT >\ sU K+&eTTqT ̂ #qT. sTy P qT 
+<eTT> rdT= 2 d+.MT ykseTTq e #|eTTqT, R 
qT +<eTT> rdT= 3 d+.MT ykseTTq e #|eTTqT 
^dqT.  $ P nqT _+<Te e#T <H={ K+&+#T=q<T.

			  (i)  sDeTT @$T?	 (ii) B <syTq uT <seTT @~?

 uTeTT jTT @y s+&T uTeTT\ yTTeTT eT&e uTeTT +f me> +&TqT.

(ii)	 s+&T uTeTT\T y{ eT<  DeTT q|&T uTeTTqT ]+#T (SAS 
jTeTeTT)

<VsD 5.2
e&q =\\T PQ = 4 d+.MT, QR = 6.5 d+.MT eT]jTT +PQR = 60° eq 

uTeTT PQR qT ]+#TeTT.
k<q
e&q =\\T

	 PQ	 =	 4 d+.MT

	 QR	 =	 6.5 d+.MT
	 +PQR	 =	 60°

 uTeTT jTT eT&T DeTT\ D deT~K+&q sK\qT 
^jTTeTT. n$ n  _+<Te <s be#Tqy n d]#&TeTT. 
 _+<Te n+se +<eTT n #|&TqT..
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sD eTeTT:

yTT 1	 :	 QR = 6.5 d+.MT =\ >\ sU K+&eTTqT ^jTTeTT.

yTT 2	 :	 Q <>Zs 600 DeTTqT >T]+ < <s QX nqT sU sDeTTqT ̂ jTTeTT.

yTT 3	 :	 Q qT +<eTT> rdT= 4 d+.MT ykseTTq e #|eTT QX qT P 
<>Zs K+&+#TqT ^jTTeTT.

yTT 4	 :	 PR \qT \T|eTT.

		  PQR e\dq uTeTT.

XY = 6 d+.MT, YZ = 6 d+.MT eT]jTT +XYZ = 70° =\\T >\ 
uTeTTqT ^jTTeTT. uTeTT jTT deq uTeTT\ m<Teq 
DeTT\qT =* #&TeTT. e @$T >eT+$?

(iii) 	 s+&T DeTT\T y{ eT<  uTeTT q|&T uTeTTqT ]+#T.                 
(ASA jTeTeTT)

<VsD 5.3
XY = 6 d+.MT, +ZXY = 30° eT]jTT +XYZ = 100° =\\T >\ uTeTT XYZ 
qT ]+#TeTT. eT&e DeTT =\ 50° eq< n |+#TeTT.
k<q
e&q =\\T

	      XY = 6 d+.MT
	 +ZXY = 30°

	 +XYZ = 100°
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yTT 1	 :	 XY = 6 d+.MT =\ >\ sU K+&eTTqT ^jTTeTT.
yTT 2	 :	 X <>Zs DeTT 30° qT >T]+ < <s XP nqT sUsDeTT ^jTTeTT.
yTT 3	 :	 Y <>Zs 100° DeTTqT >T]+ < <s QY nqT sUsDeTTqT ̂ jTTeTT. 

XP eT]jTT YQ sDeTT\T Z e< K+&+#T=qTqT.
yTT 4	 :	 XYZ e\dq uTeTT n>TqT. eT&e DeTT =\ 50°                                        

(n+f +Z = 50°)

nudeTT 5.1
	 I.	 +< e&q =\\ uTeTT\qT ]+#TeTT.
	 1.	 e&q =\\T PQ = 6 d+.MT, QR = 7 d+.MT, PR = 5 d+.MT eq 3PQR qT ]+#TeTT.
	 2.	 7 d+.MT uTeTTq deTuVQ uTeTTqT ]+#TeTT. De |j+ uTeTT 

jTT = DeTTqT =\TeeTT. n$ deqeTT> eqy?
	 3.	 DE = 4.5 d+.MT, EF = 5.5 d+.MT eT]jTT DF = 4.5 d+.MT =\\T >\ uTeTT 

DEF qT ]+#TeTT. ~ m+{ uTeTT n *jTT#Tq<? < |sTqT yjTTeTT.
	 II.	 +< e&q =\\ uTeTT\qT ]+#TeTT.
	 4.	 e&q =\\T YZ = 7 d+.MT, ZX = 5 d+.MT eT]jTT +Z = 50° eq3XYZ qT ]+#TeTT.
	 5.	 e&q =\\T PQ = 7 d+.MT, PR = 9 d+.MT eT]jTT +P = 100° eq3PQR qT ]+#TeTT.
	 6.	 e&q =\\T AB = 6 d+.MT, BC = 8 d+.MT eT]jTT +B = 90° eq 3ABC qT 

]+#TeTT. AC jTT b&eqT =\TeeTT.
	 III.	 +< e&q =\\ uTeTT\qT ]+#TeTT.
	 7.	 X = 50°, Y = 70° eT]jTT XY = 5 d+.MT =\\T >\ 3XYZ qT ]+#TeTT.
	 8.	 A = 120°, B = 30° eT]jTT AB = 7 d+.MT =\\T >\ 3ABC qT ]+#TeTT.
	 9.	 e&q =\\T +L = 40°, +M = 40° eT]jTT LM = 6 d+.MT eq 3LMN qT 

]+#TeTT. +L eT]jTT +M m<TsT> eq uTeTT\ b&e\qT =* yjTTeTT. n$ 
deqyTqy? ~ m+{ uTeTT?

PQ = 7 d+.MT, +Q = 70° eT]jTT +R = 40° nqT =\\ eq 
uTeTT PQR qT ]+#TeTT.
>eT: uTeTT jTT eT&T DeTT\ yTTeTT nqT <seTTqT 
|j+#TeTT.
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6.1 	 $u>| <+XeTTq n+eT<eTeTT, eT<>eTT, uVQeTT. (Mean Median, 
Mode of ungrouped  data)

n+eT<eTeTT: (Arithmetic mean)

eTqeTT dsd] nqT |<eTTqT  J$eTT nH ksT |j+#T#THeTT.

|P]eT sE dsd]> 5 >+\T q #<Te {sTT+#T#Tq~.

yT H\ #H dsd]> 40 &^\ d*jTdt c> e+&TqT.

|q #|&q y\T eTq @$T #|#Tq$?

|P]eT sE dsd]> 5 >+\T #<Te#Tq~. = sE\T e >+\T, $T*q 
sE\T me >+\T #<Te#Tq~.

dsd]> 40 &^\ d*jTdt c> nqTq~ yT H\ #H c> = deTjTeTT\ 
40 &^\ d*jTdt e> $T*q deTjTeTT\ 40 &^\ d*jTdt me> e+&TqT 
n \T|#Tq~.

e&q <+XeTT w eT]jTT >]w $\Te\ eT< dsd] e+&TqT.

sVY nqTq&T $$< bs+XeTT\ +~ esT\qT b+<qT.

	 62, 84, 92, 98, 74

n dsd] esT\qT qT>=qTeTT. yTT< n n d\ esT\qT                        
L&e\jTTqT.

	 62 + 84 + 92 + 98 + 74 = 410.

sTy < yTTeTT bs+XeTT\ d+K u+#TeTT. (n+f 5 )

sVY b+~q dsd] esT\T = .
5

410 82=

 $\Te n #<Te eq keTseTTqT \TdT=qT |j>|&T#Tq~.

`  dsd]  n+eT<eTeTTqT  d>TqT  +~ $<eTT> s+#e#TqT.

	 n+eT<eTeTT = 
<+XeTT\ yTTeTT
<+XeTT\ d+K
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<VsD 6.1
>jT 3 sE\ esTd> 4 >+\T, 5 >+\T eT]jTT 3 >+\T #~yqT. yT 

dsd]> m >+\T  sE #<Te#Tq~.
k<q:
#~$q dsd] >+\T = 

#~$q >+\ yTTeTT
#~$q sE\ d+K

		  =	 4 5 3
3

+ +  > +\T

		  =	
3
12

		  =	 4 >+\T. 
>jT dsd]>  sE 4 >+\T #<Te#Tq~ n #|e#TqT. 

<VsD 6.2
sT T+eTT\ H\d] <jTeTT esTd> ̀  3500, ̀  2700, ̀  3000, ̀  2800, ̀  3900 

and ` 2100 nsTTq|&T <jT dsd] qT>=qTeTT.
k<q:

	H\d] <jTeTT jTT dsd]	=	
sT T+eTT\ <jTeTT yTT+

T+eTT\ d+K

		  =	 3500 2700 3000 2800 3900 2100`
6

+ + + + +

		  =	 ` 
6

18000

		  =	 ` 3,000.
<VsD 6.3

5 \eTT\ dsd] y\ `75. 5 \eTT\ yTTeTT y\ m+?
k<q:
	 dsd]	 =	

5 \eTT\ yTTeTT y\
\eTT\ d+K

        	5 \eTT\ yTTeTT y\ R dsd] I \eTT\ d+K

		  =	 ` 75 5#

		  =	 ` 375 

eT<>eTT: (Median)
11 eT+~ $<sT\ mT\T +< e&q$.
	 106, 110, 123, 125, 115, 120, 112, 115, 110, 120, 115.
yjeT D b<jTT&T $TdsY >yT $<sT\qT s+&T esZeTT\T> $&BjTeq 

u$+#qT. s+&T esZeTT\ $<sT\ d+K deTeTT> e+&eqT.  $<eTT> $&BjTT 
 esZeTT  >T]+q mT e> eq $<sT\qT, += esZeTT  mT me> 
eq $<sT\qT neTseqT. 
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|&T $TdsY >yT $<sT\qT mT\qqTd]+ sVD eTeTT \ufqT.
	 106, 110, 110, 112, 115, 115,115, 120, 120, 123, 125

e&q <+XeTT eT< $\Te 115.  $\Te $<sT\qT 5 eT+~ $<sT\T >\ 
s+&T esZeTT\T> $u+#TqT.  $\TeH eT<>eTT n #|e#TqT. $TdsY >yT eT< 
eq $<]  eT<e]> e+#T rs+#qT.

sVD eT+>, nesVD eT+> $\Te\ ydq|&T y{ eT< $\Te 
eT<>eTT n>TqT.

+~ <+XeTTq eT<>eTTqT qT>=qTeTT.
	 40, 50, 30, 60, 80, 70

e&q <+XeTTq sVD eTeTT
	 30, 40, 50, 60, 70, 80.

<+XeTT d+K 6 nqTq~ d]d+K eq eT&e eT]jTT H\Ze |<eTT\ eT<       
$\Te n>TqT.  s+&T |<eTT\ dsd] eT<>eTT n>TqT.

nq>, eT<>eTT = 50 60 .
2 2

110 55+ = =

	 (i)	 <+XeTT\ d+K ud d+K> e+&q eT< |<eTT eT<>eTT n>TqT.

	 (ii)	 <+XeTT\ d+K d] d+K> e+&q s+&T eT< $\Te\ dsd] eT<>eTT 
n>TqT.

<VsD 6.4
+~ <+XeTTq eT<>eTTqT qT>=qTeTT.
		  3, 4, 5, 3, 6, 7, 2.
k<q:
e&q <+XeTTqT sVD eTeTT 

yjTTeTT.
		  2, 3, 3, 4, 5, 6, 7

e&q <+XeTT\ d+K 7. ~ ud d+K.

`eq 4 nqTq~ eT<>eTT n>TqT.

<VsD 6.5
12, 14, 25, 23, 18, 17, 24, 20 nqT $\Te\ eT<>eTTqT qT>=qTeTT.

k<q:
e&q $\Te\qT sVD eTeTT yjTTeTT.

MT bsX\, +{ eT< 
eq <seTTqT \TdT= 
y{ eT<> e+& d\
eTTqT \TdT.

eTq+ + |jD+# Vy s&| 
q |dT| s+>T sK s& eT<>eTTqT 
\T|#Tq~.
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	 12, 14, 17, 18, 20, 23, 24, 25.
e&q <+XeTT\ d+K 8. ~ d] d+K n>TqT.
`  eq eT<>eTT nqTq~ s+&T eT< $\Te\T 18 eT]jTT 20 \ n+eT<eTeTT 

n>TqT.
eT<>eTT R 

2
18 20

2
38 19+ = =

<VsD 6.6
yTT<{ 5 |<H+eTT\ eT<>eTTqT qT>=qTeTT.
k<q:
	 yTT<{ 5 |<H+eTT\T 2, 3, 5, 7, 11
	 <+XeTT $\Te\ d+K 5. ~ ud d+K n>TqT.
	 `  eq eT< |<eTT 5 nqTq~ eT<>eTT n>TqT. 

VQeTT: (Mode)
+~ <VsDqT >eT+#TeTT.
$TdsY s|Te \ n+>& jTe. nqT q n+>& 40 d+.MT =\>\ #=\T 

me> neTT&T be#Tq$ n #|qT.
& n+>& jTe #q $$< |]eDeTT >\ #=\T neTT&T be MT<T> 

eq~.  nqT #|qT 40 d+.MT =\>\ #=\T n~eTT> neTT&Tbe#Tq$. q 
=\\ n~eTT> neTT&T njT #=\ =\ 40 d+.MT  $\Te =\\ VQeTT 
n>TqT.

e&q <+XeTT s#T> eq $\TeqT VQeTT n+<TsT.
u <+XeTT\ VQeTT: (Mode of Large data)

<+XeTT\ d+K n~eTT> eq  |<eTTqT {> yd L&T dT\ueTT <T. 
+|&T eTqeTT <+XeTT\ |{ jsT#jTe\jTTqT.

<VsD 6.7
* + b{\ bsTT+ d+K +< e&q~.
	 1, 3, 2, 5, 1, 4, 6, 2, 5, 2, 2, 2, 4, 1, 2, 3, 2, 3, 2, 3,
	 1, 1, 2, 3, 2, 6, 4, 3, 2, 1, 1, 4, 2, 1,  5, 3, 4, 2, 1, 2. e&q <+XeTTq 

VQeTTqT qT>=qTeTT.
k<q:

bsTT+ d+K >Dq VeTT\T b{\ d+K
1 ||||  |||| 9
2 ||||  ||||   |||| 14
3 ||||   || 7
4 |||| 5
5 || 3
6 || 2

yTTeTT 40

|{ 6.1
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|&T e y+H ‘2’ nqTq~ VQeTT n #|e#TqT. m+<Tq> 2 nH 
ksT eeq~. me b{\T 2 >\T eq|&T $jTeTT k~+eq$.

<VsD 6.8
+~ <+XeTTq VQeTT qT>=qTeTT.
	 3, 4, 5, 3, 6, 7

k<q:
	 3 nqTq~ me ksT ejTTq~.

	 `  eq <+XeTT VQeTT 3.

<VsD 6.9
e&q <+XeTTq VQeTT qT>=qTeTT.
	 2, 2, 2, 3, 3, 4, 5,5, 5, 6,6, 8

k<q:
	 2 eT]jTT 5 eT&T ksT ejTTq$.

	 `  eq <+XeTT VQeTT 2 eT]jTT 5.

<VsD 6.10
e&q <+XeTTq VQeTT qT>=qTeTT.
           90, 40, 68, 94, 50, 60. 

k<q:
& @ d+K me ksT s<T. eq  <+XeTTq VQeTT <T.

<VsD 6.11
20 T+eTT\ eq |\\ d+K 1, 2, 2, 1, 2, 1, 3, 1, 1, 3

	 1, 3, 1, 1, 1, 2, 1, 1, 2, 1. VQeTTqT qT>=qTeTT. 

k<q:

|\\ d+K >Dq VeTT\T
T+eTT\ 

d+K
1 ||||   ||||   || 12
2 |||| 5
3 ||| 3

yTTeTT 20

|{ 6.2

12 T+eTT\T  _&qT *jTTq$. eq <+X VQeTT 1. 

MT d\eTT\ yVqeTT\ 

uVQeTTqT qT>=qTeTT.

|e\ jTT uVQeTTqT 
qT>=qTeTT.
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nudeTT 6.1
	 1.	 d]jTq yTqT qT>=qTeTT.
	 i)	 1,3,5,7 eT]jTT 9 \ n+eT<eTeTT.
	 (n) 5	 () 7	 () 3	 () 9

	 ii)	 5 eT+~ $<sT\ dsd] esT\T 40 nsTTq y yTTeTT esT\T
	 (n) 20	 () 200	 () 8	 () 4	

	 iii)	 30,50,40,10,20 \ eT<>eTT.
	 (n) 40	 () 20	 () 30	 () 10

	 iv)	 2,4,6,8,10,12 \ eT<>eTT.
	 (n) 6	 () 8	 () 7	 () 14

	 v)	 3,4,7,4,3,2,4 \ VQeTT.
	 (n) 3	 () 4	 () 7	 () 2

	 2.	 10 eT+~ $<sT\ \ | esT\T 
			   56, 48, 58, 60, 54, 76, 84, 92, 82, 98.
		  y| eT]jTT n+eT<eTeTTqT qT>=qTeTT.
	 3.	 <T>T] sTe\T 72 .>, 48 .>, 51 .>, 69 .>, 67 .>. sTe\ dsd] 

qT>=qTeTT.
	 4.	 s+&T b\ 30 sT eT]jTT 50 sT b\T $&$&> eq$. s+&T b\qT 

b\T deqeTT> |+q s+&T b\ |Tq|]eDeTT m+? (keTseTT)
	 5.	  >T]+q ys+ q>seTT >]w c> 34.8°C, 38.5°C, 33.4°C, 34.7°C, 35.8°C, 

32.8°C, 34.3°C > e+&q~.  yseTT dsd] c>qT qT>=qTeTT. 
	 6.	  { T 10 eT+~ $<sT\ jTT dsd] sTe 65.6 .>. |~ eT+~ 

$<sT\ yTTeTT sTe m+?
	 7.	 +~ <+XeTTq eT<>eTTqT qT>=qTeTT.
			   6, 14, 5, 13, 11, 7, 8
	 8.	 7 # sTe >eTT\ 131, 132, 125, 127, 130, 129, 133. eT<>eTTqT 

qT>=qTeTT.
	 9.	  u{yTH <T +>\ #dq |sT>T\T esTd> 60,100,78,54,49. eT<>eTTqT 

qT>=qTeTT. 
	 10.	 yTT<{ @&T dV d+K\ eT<>eTTqT qT>=qTeTT. 
	 11.	 @&T>TsT $<sT\T rdT=q &T +< e&q~.
		  `  42, ` 22, ` 40, ` 28, ` 23, ` 26, ` 43. eT<>eTTqT qT>=qTeTT.
	 12.	 e&q <+XeTTq VQeTTqT qT>=qTeTT.
			   3, 4, 3, 5, 3, 6, 3, 8, 4.
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	 13.	  bsyT qT+ d]+q 12 >T&T\ sTe e&q$. 

			   32 >, 40 >, 27 >, 32 >, 38 >, 45 >,

			   40 >, 32 >, 39 >, 40 >, 30 >, 31 >, VQeTTqT qT>=qTeTT.

	 14.	 +~ <+XeTTq VQeTTqT qT>=qTeTT.
			   4, 6, 8, 10, 12, 14
	 15.	 +~ <+XeTTq VQeTTqT qT>=qTeTT.
			   12, 14, 12, 16, 15, 13, 14, 18, 19, 12, 14, 15, 16, 15, 16, 16,
			   15, 17, 13, 16, 16, 15, 13, 15, 17, 15, 14, 15, 13, 15, 14.

	 1.	 e&q <+XeTT w eT]jTT >]w $\Te\ eT< dsd] e+&TqT.

	 2.	 n+eT<eTeTT = 
<+XeTT\ yTTeTT
<+XeTT\ d+K

	 3.	 sVD eT+>, nesVD eT+>, $\Te\ ydq y{ eT< $\TeqT 
eT<>eTT n+<TsT.

	 4.	 e&q <+XeTT s#T> eq $\TeqT VQeTT n+<TsT.
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yT\T
n<jTeTT: 1

nudeTT 1.1
	 1.	 (i)	 	 (ii)	 n	 (iii)	 	 (iv)	 	 (v)	 n
	 2.	 (i)	 x + 2y	 (ii)	 y – z	 (iii)	 xy + 4

		 (iv)	3x – 4y (nq> 3x > 4y)  4y – 3x (nq> 4y > 3x)
		 (v) 10 + x + y	 		  (vi)	 pq – 5			   (vii)	 12 – mn

		 (viii)	ab – (a + b)		  (ix)	 3cd + 6			   (x)	 xy
3
4

nudeTT 1.2
	 1.	 (i)	 	 (ii)	 n	 (iii)	 	 (iv)	 	 (v)	 
	 2.	 (i)	 x = 12	 (ii)	 a = 7	 (iii)	 y = – 6	 (iv)	 b = – 2	 (v)	 x = – 5
		 (vi)	x = 7	 (vii)	 x = –5	 (viii)	 n = 4	 (ix)	 m = 11	 (x)	 y = 27
	 3.	 (i)	 x = 50	 (ii)	 l = 14	 (iii)	 x = 4	 (iv)	 a = 3	 (v)	 x = – 9
		 (vi)	 t = – 4	 (vii)	 x = – 6	 (viii)	 m = 3	 (ix)	 x = 

2
1- 	 (x)	 x = 6

	 4.	 (i)	 x = 14	 (ii)	 a = 30	 (iii)	 n = – 24	(iv)	 p = – 56	 (v)	 x = – 10
		 (vi)	m = 12
	 5.	 (i)	 x = 3	 (ii)	 x = – 15	 (iii)	 z = 5	 (iv)	 a = – 9	 (v)	 x = 3
		 (vi)	x = 5	 (vii)	 y = 67	 (viii)	 x = 6	 (ix)	 y = 3	 (x)	 m = 6
		 (xi)	x = 11	 (xii)	 m = 

2
1 	 (xiii)	 x = 3	 (xiv)	 x = – 3	 (xv)	 t = – 1

	 6.	 15		  7.	 13	 8.	 108	 9.	 12	 10.	 8
	11.	37, 38		  12.	 60	 13.	 35

n<jTeTT: 2
nudeTT 2.1
	 1.	 (i)	 20%	 (ii)	 93%	 (iii)	 11%	 (iv)	 1%	 (v)	 100%
	 2.	 (i)	 43 : 100	 (ii)	 75 : 100	(iii)	 5 : 100	(iv)	 35:200	 (v)	 100 : 300

	 3.	 (i)	
100
25 	 (ii)	

200
25 	 (iii)	

100
33 	 (iv)	

100
70 	 (v)	

100
82

nudeTT 2.2
	 1.	 (i)	 625%	 (ii)	 0.03%	 (iii)	 25%	 (iv)	 33

3
1 	 (v)	 50

	 2.	 (i)	 100%	 (ii)	 18%	 (iii)	 5.25%	 (iv)	 66.67%	(v)	 45.45%
	 3.	 (i)	 36%	 (ii)	 3%	 (iii)	 7.1%	 (iv)	 305%	 (v)	 75%

	 4.  	20%	 5.	   13.89%			                 6.  u*\T 46%; u\TsT 54

	 7.	  nqT $CqXdeTT me esT\T rdqT.
	 8.	  b<T| 10%; KsT 90%
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nudeTT 2.3
	 1.	 (i)	

10
3 	 (ii)	

200
1 	 (iii)	 0.25	 (iv)	 ` 30	 (v)	 ` 7.50

	 2.	 (i)	
100
9 	 (ii)	

4
3 	 (iii)	

400
1 	 (iv)	

40
1 	 (v)	

3
2

	 3.	 (i)	 0.07	 (ii)	 0.64	 (iii)	 3.75	 (iv)	 0.0003	 (v)	 0.005

	 4.	 (i)	 18	 (ii)	 ` 24	 (iii)	 36 MT	 (iv)	 108	 (v)	 3.75 .>
	 5.	  ` 6250	 6.	 9 b{\T			   7.	 12,800 |sTw\T; 11,200 |\\T
	 8.	  ` 38250	 9.	 3975 #<eysT

nudeTT 2.4
	 1.	 (i)	 50	 (ii)	 15	 (iii)	 ueTT ` 35		 (iv)	 =q<s        (v)	10

	 2.	 ueTT = ` 24, qweTT = ` 21;    ueTT = ` 35.45, qweTT = ` 3362, ueTT = ` 7.50
	 3.	 (i)	 ` 530	 (ii)	 ` 620	 (iii)	 ` 1027.50			   (iv)	 ` 336.75	      (v)	` 943.50

	 4.	  10% ueTT		  5. 12% qweTT		 6. 60% ueTT		 7. 15% ueTT

nudeTT 2.5
	 1.	 (i)	 ` 200	 (ii)	 ` 500	 (iii)	 ½ d+eseTT      (iv)	

5
4  d+eseTT		  (v) ` 15,000

	 2.  	̀  2,500; ` 7,500			  3.	 ` 450; ` 1,650	 4.	 ` 2,250
	 5.	  ` 2,630	 6.	 ` 216; ` 12,216	 7.	 5%	 8.	 ` 1,000

	 9.	  2 d+eseTT\T 		 10. 10%		  11.	8 d+eseTT\T
	12.	  ` 5,400	 13.	 ` 5,000; 10%

n<jTeTT: 3
nudeTT 3.1
	 1.	 (i)	 	 (ii)	 n	 (iii)	 	 (iv)	 
	 2.	 (i)	 50 d+.MT2	 	 (ii)	 66 d+.MT2		 (iii)	 80.5 d+.MT2

	 3.	  12 d+.MT	 4.	 875 MT2	 5.	 19.2 d+.MT

nudeTT 3.2
	 1.	 (i)	 	 (ii)	 	 (iii)	 n	 (iv)	 	 (v)	 
	 2.	 (i)	 d = 70 d+.MT, c = 220 d+.MT
		 (ii)	 r = 28 d+.MT, c = 176 d+.MT
		 (iii)	r = 4.9 d+.MT, d = 9.8 d+.MT
	 3.	 (i)	 110 d+.MT		  (ii)	264 d+.MT		 (iii)	 374 d+.MT			  (iv)	 462 d+.MT
	 4.	 (i)	 79.2 d+.MT		  (ii) 396 d+.MT	 (iii)	 8.8 MT			   (iv)	 26.4 MT
	 5.	 (i)	 17.5 d+.MT	 	 (ii) 21 d+.MT		  (iii)	 0.7 MT			   (iv)	 1.75 MT
	 6.	  660 MT	 7.	 ` 1232	 8.	 1.05 MT	 9.	 37
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nudeTT 3.3

	 1.	 (i)	 38.5 d+.MT2		      (ii)  	 86.625 d+.MT2		  (iii)	  18.865 MT2	 (iv)	 31.185 MT2

	 2.	 (i)	 4.525 d+.MT2	      (ii) 	 616 d+.MT2		   (iii) 	 55.44 MT2	 (iv)	 98.56 MT2

	 3.  	̀  1848		         4.	  154 MT2		      5.  	eeTT
	 6.	  38.5 MT2		         7.  	1936 d+.MT2		      8.  	r = 35, ` 2200

nudeTT 3.4
	 1.	  636 MT2	 2.	 ` 1152			   3.	 ` 1590

	 4.	  375 d+.MT2	 5.	 40 MT2, 30 MT2		 6.	 3256 d+.MT2

nudeTT 3.5
	 1.	  6594 MT2	          2.  536.94 MT2		       3.  ` 24,050	       4. 21.195 MT2        5.  ` 4494

n<jTeTT: 4

  nudeTT 4.1
	 1.	 (i)	 	 (ii)	 	 (iii)	 	 (iv)	 	 (v)	 
	 2.	 (i)	 +A = 25°, +B = 35°, +C = 120°

	 3.	 (i)	 60°	 (ii)	 70°	 (iii)	 50°	 (iv)	 50°

	 4.	 (i)	 70°	 (ii)	 60°	 (iii)	 40°	 (iv)	 30°

		 (v)	 65°, 65°			   (vi)	 60°, 60°, 60°

	 5.	 (i)	 y = 60°, x = 70°	 (ii)	 y = 80°, x = 50°	 (iii)	 y = 70°, x = 110°

		 (iv)	x = 60°, y = 90°	 (v)	 y = 90°, x = 45°	 (vi)	 x = 60°, y = 50°

	 6.	  x = 50°.

n<jTeTT: 6

nudeTT 6.1

	 1.	 (i)	 A	 (ii)	 B	 (iii)	 	 (iv)	 	 (v)	 B

	 2.	  y| 50; n+eT<eTeTT = 70.8

	 3.	  61.4 .>.	 4.	 40 sT	 5.	 34.9°C

	 6.	  655.0 .>	 7.	 8	 8.	 130 >eTT\T	    9. 60		  10. 4	     11. ` 28

	12.  3		         	 13.	   32 >eTT\T eT]jTT 40 >eTT\T   

14.	  VQeTT <T        	 15. 15
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